
qm=;+= PsLs[t ;DklQ s/  /sd

1 50 krf; ?k}of dfq

2 75 krxQ/ ?k}of dfq

3 100 Ps;o ?k}of dfq

4 125 Ps;o klRr; ?k}of dfq

5 150 Ps;o krf; ?k}of dfq

6 175 Ps;o krxQ/ ?k}of dfq

7 190 Ps;o gAa] ?k}of dfq

8 200 b"O;o ?k}of dfq

9 250 b"O;o krf; ?k}of dfq

10 300 tLg;o ?k}of dfq

11 350 tLg;o krf; ?k}of dfq

12 380 tLg;o c;L ?k}of dfq

13 400 rf/;o ?k}of dfq

14 500 kf+r;o ?k}of dfq

15 550 kf+r;o krf; ?k}of dfq

16 650 %;o krf; ?k}of dfq

17 800 cf&;o ?k}of dfq

18 1000 Psxhf/ ?k}of dfq

19 1200 Psxhf/ b'O;o ?k}of dfq

20 1500 Psxhf/ kf+r;o ?k}of dfq

21 2000 b"Oxhf/ ?k}of dfq

22 2500 b"Oxhf/ kf+r;o ?k}of dfq

23 3000 tLgxhf/ ?k}of dfq

24 3500 ltgxhf/ kfr ;o

25 4500 rf/xhf/ kfr ;o

26 6000 % xhf/

27 8000 cf& xhf/

28 10000 bz xhf/

29 12000 jfx| xhf/

30 16000 ;f]x| xhf/

31 20000 lj; xhf/

32 25000 klRr; xhf/

33 40000 rfln; xhf/

34 50000 krf; xhf/

35 60000 ;f&L xhf/

36

g_.
b<<]^ cfO*L ;d'x b<-<]^sf] gfd

1 21 km'njf<L j*f g_ 1 bfKrf ;*ssf] bfofF jfofF 50 ld ;Dd 600,000.00

1 441 km'njf<L j*f g_ 1
dy'<fkfl^ b]pa'h] u}<Lrf}< ;Ddsf] df]^<af^f] 
bfofF jfofF 50 ld ;Dd

300000

1 41 km'njf<L j*f g_ 1 u}<Lrf}<<fDr] df]^<af^f]sf] bfofF 50 ld ;Dd 300,000.00

1 42 km'njf<L j*f g_ 1
lj.kL .<fhdfu{ b]vL yklnof rf]s ;Ddsf] bfofF 
jfofF 50 ld ;Dd

300,000.00

ljj/)f
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?= 3 s/f]* 20 nfv 1 b]lv 4 s/f]* ;Dd 

?= 1 s/f]* 1 b]lv 1 s/f]* 20 nfv ;Dd 

?= 1 s/f]* 20 nfv 1 b]lv 1 s/f]* 60 nfv ;Dd 

?= 1 s/f]* 60 nfv 1 b]lv 2 s/f]* ;Dd 

?= 2 s/f]* 1 b]lv 2 s/f]* 20 nfv ;Dd 

?= 2 s/f]* 20 nfv 1 b]lv 3 s/f]* 30 nfv ;Dd 

?= 50 nfv 1 b]lv 60 nfv ;Dd 

?= 60 nfv 1 b]lv 70 nfv ;Dd 

?= 70 nfv 1 b]lv 80 nfv ;Dd 

?= 80 nfv 1 b]lv 90 nfv ;Dd 

?= 90 nfv 1 b]lv 1 s/f]* ;Dd 

?= 30 nfv 1 b]lv 34 nfv ;Dd 

?= 34 nfv 1 b]lv 38 nfv ;Dd 

?= 38 nfv 1 b]lv 42 nfv ;Dd 

?= 42 nfv 1 b]lv 46 nfv ;Dd 

?= 46 nfv 1 b]lv 50 nfv ;Dd 

?= 20 nfv 1 b]lv 22 nfv ;Dd 

?= 22 nfv 1 b]lv 24 nfv ;Dd 

?= 24 nfv 1 b]lv 26 nfv ;Dd 

?= 26 nfv 1 b]lv 28 nfv ;Dd 

?= 28 nfv 1 b]lv 30 nfv ;Dd 

?= 4 s/f]* 1 b]lv 5 s/f]* ;Dd 

PsLs[t ;DklQ s/sf] hUuf d'NofÍg ;'rL

?= 5 s/f]* 1 b]lv dfly hlt eP klg 2 ?k}of k|lt xhf/sf b/n] PsLs[t ;DklQ s/ nfUg] 

?= 1 b]lv 3 nfv ;Dd

?= 3 nfv 1 b]lv 4 nfv ;Dd 

?= 4 nfv 1 b]lv 5 nfv ;Dd 

?= 5 nfv 1 b]lv 6 nfv ;Dd 

?= 6 nfv 1 b]lv 7 nfv ;Dd 

?= 7 nfv 1 b]lv 8 nfv ;Dd 

?= 8 nfv 1 b]lv 9 nfv ;Dd 

?= 9 nfv 1 b]lv 10 nfv ;Dd 

?= 10 nfv 1 b]lv 12 nfv ;Dd 

?= 12 nfv 1 b]lv 14 nfv ;Dd 

?= 14 nfv 1 b]lv 16 nfv ;Dd 

?= 16 nfv 1 b]lv 18 nfv ;Dd 

?= 18 nfv 1 b]lv 20 nfv ;Dd 
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1 45 km'njf<L j*f g_ 1
dy'<fkfl^ b]pa'h] ;Ddsf] df]^<af^f]sf] bfofF 
jfofF 50 ld ;Dd

300,000.00

1 103 km'njf<L j*f g_ 1 nsfOg]rf]s df]^<af^f]sf] bfofF jfofF 50 ld ;Dd 300,000.00

1 22 km'njf<L j*f g_ 1 gdf]a'$ ;*ssf]] bfofF jfofF 50 ld eGbf k%f*L 300,000.00

1 23 km'njf<L j*f g_ 1
&f^Lyf]s u}<Lrf}< df]^< af^f]sf] bfofF jfofF 50 
ld ;Dd

300,000.00

1 46 km'njf<L j*f g_ 1 <fDr] nsfOg] df]^<af^f] bfofF jfofF 50 ld ;Dd 200,000.00

1 44 km'njf<L j*f g_ 1
dy'<fkfl^ b]vL g<fn^f]n ;Ddsf] df]^<af^f] bfofF 
jfofF 50 ld ;Dd

200,000.00

1 443 km'njf<L j*f g_ 1
nsfOg]^f]n lkknaf]^ ;'g'jf<^f]n x'Fb} lj=kL= 
<fhdfu{ %'g] ;*ssf] bfof jfof 50 ld= ;Dd

150,000.00

1 47 km'njf<L j*f g_ 1
sfK;nf ('Ë]kfgL df]^<af^f] bfofF jfofF 50 ld 
;Dd

150,000.00

1 48 km'njf<L j*f g_ 1
sflQs] l;d*fF*f df]^<af^f]sf] bfofF afofF 50 ld 
;Dd

150,000.00

1 101 km'njf<L j*f g_ 1
nsfOg]rf]s df]^<af^f]sf] bfofF jfofF 50 ld 
eGbf k%f*L

100,000.00

1 102 km'njf<L j*f g_ 1
&f^Lyf]s u}<Lrf}< df]^< af^f]sf] bfofF jfofF 50 
ld eGbf k%f*L

100,000.00

1 109 km'njf<L j*f g_ 1
u}<Lrf}<<fDr] df]^<af^f]sf] bfofF 50 ld eGbf 
k%f*L

100,000.00

1 81 km'njf<L j*f g_ 1
lj.kL .<fhdfu{ b]vL yklnof rf]s ;Ddsf] bfofF 
jfofF 50 ld eGbf k%f*L

100,000.00

1 104 km'njf<L j*f g_ 1
dy'<fkfl^ b]vL g<fn^f]n ;Ddsf] df]^<af^f] bfofF 
jfofF 50 ld eGbf k%f*L

80,000.00

1 442 km'njf<L j*f g_ 1
dy'<fkfl^ b]pa'h] u}<Lrf}< ;Ddsf] df]^<af^f] 
bfofF jfofF 50 ld eGbf k%f*L

80,000.00

1 106 km'njf<L j*f g_ 1
<fDr] nsfOg] df]^<af^f] bfofF jfofF 50 ld eGbf 
k%f*L

80,000.00

1 105 km'njf<L j*f g_ 1
dy'<fkfl^ b]pa'h] ;Ddsf] df]^<af^f]sf] bfofF 
jfofF 50 ld eGbf k%f*L

80,000.00

1 107 km'njf<L j*f g_ 1
sfK;nf ('Ë]kfgL df]^<af^f] bfofF jfofF 50 ld 
eGbf k%f*L

75,000.00

1 108 km'njf<L j*f g_ 1
sflQs] l;d*fF*f df]^<af^f]sf] bfofF afofF 50 ld 
eGbf k%f*L

75,000.00

1 444 km'njf<L j*f g_ 1
nsfOg]^f]n lkknaf]^ ;'g'jf<^f]n x'Fb} lj=kL= 
<fhdfu{ %'g] ;*ssf] bfof jfof 50 ld=eGbf 
k%f*L

75,000.00

b<<]^ cfO*L ;d'x b<-<]^sf] gfd

2 110 km'njf<L j*f g_ 2
lkknrf}< ;fny'DsL ltdlN;gf^f< df]^<af^f]sf] 
bfofF jfofF 50 ld ;Dd

200,000.00

2 112 km'njf<L j*f g_ 2
&"nLrf}<L habL df]^<af^f]sf] bfofF jfofF 50 ld 
;Dd

200,000.00

2 114 km'njf<L j*f g_ 2
lkknrf}< sflzv)* df]^<af^f]sf] bfofF jfofF 50 
ld ;Dd

200,000.00

2 116 km'njf<L j*f g_ 2
lkknrf}< habL df]^<af^f]sf bfofF jfofF 50 ld 
;Dd

200,000.00

2 118 km'njf<L j*f g_ 2
sflzv)* ^^n]^f< df]^<af^f]sf] bfofF jfofF 50 
ld ;Dd

200,000.00

2 120 km'njf<L j*f g_ 2
;Nn]gL sflzv)* vf]nf df]^<af^f]sf bfofF jfofF 
50 ld ;Dd

200,000.00
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2 122 km'njf<L j*f g_ 2
led]Zj< lg=df=lj= sflzv)* vf]nf df]^<af^f]sf 
bfofF jfofF 50 ld ;Dd

200,000.00

2 49 km'njf<L j*f g_ 2
afF;vs{ lkknrf}< df]^< af^f]sf] bfofF jfofF 50 
ld ;Dd

200,000.00

2 445 km'njf<L j*f g_ 2 ;Nn]gL afF;vs{ 50 ld ;Dd 150,000.00

2 447 km'njf<L j*f g_ 2 ;Nn]gL vf]l<P led]Zj< lg=df=lj= 50 ld ;Dd 150,000.00

2 115 km'njf<L j*f g_ 2
lkknrf}< sflzv)* df]^<af^f]sf] bfofF jfofF 50 
ld eGbf k%f*L

100,000.00

2 117 km'njf<L j*f g_ 2
lkknrf}< habL df]^<af^f]sf bfofF jfofF 50 ld 
eGbf k%f*L

100,000.00

2 119 km'njf<L j*f g_ 2
sflzv)* ^^n]^f< df]^<af^f]sf] bfofF jfofF 50 
ld eGbf k%f*L

100,000.00

2 121 km'njf<L j*f g_ 2
;Nn]gL sflzv)* vf]nf df]^<af^f]sf bfofF jfofF 
50 ld eGbf k%f*L

100,000.00

2 123 km'njf<L j*f g_ 2
led]Zj< lg=df=lj= sflzv)* vf]nf df]^<af^f]sf 
bfofF jfofF 50 ld eGbf k%f*L

100,000.00

2 61 km'njf<L j*f g_ 2
af;Fvs{ lkknrf}< df]^<af^f]sf] bfofF jfof 50 
ld eGbf k%f*L

100,000.00

2 111 km'njf<L j*f g_ 2
lkknrf}< ;fny'DsL ltdlN;gf^f< df]^<af^f]sf] 
bfofF jfofF 50 ld eGbf k%f*L

75,000.00

2 448 km'njf<L j*f g_ 2
;Nn]gL vf]l<P led]Zj< lg=df=lj= 50 ld eGbf 
k%f*L

75,000.00

2 446 km'njf<L j*f g_ 2 ;Nn]gL afF;vs{ 50 ld eGbf k%f*L 75,000.00

2 113 km'njf<L j*f g_ 2
&"nLrf}<L habL df]^<af^f]sf] bfofF jfofF 50 ld 
eGbf k%f*L

75,000.00

3 145 k'mnjf<L j*f g_= 3
es')*] rf]s 20 lsnf] ;Ddsf] df]^<af^f]sf bfofF 
jfofF 50 ld ;Dd

4,000,000.00

3 159 k'mnjf<L j*f g_= 3
pHjn :d[tL ejg b]lv 21 lsnf] ;Ddsf] 
df]^<af^f]sf bfofF jfofF 50 ld ;Dd

2,500,000.00

3 143 k'mnjf<L j*f g_= 3
es')*] ltdfn <f]* ;f]tL vf]nf ;Ddsf] 
df]^<af^f]sf bfofF jfofF 50 ld ;Dd

2,000,000.00

3 171 k'mnjf<L j*f g_= 3
es')*] kmlg{r<sf] af^f] x'Fb} Ans sf<vfgfsf] j< 
;f]tL vf]nf ;Ddsf] bfofF jfofF 50 ld ;Dd

1,800,000.00

3 147 k'mnjf<L j*f g_= 3
20 lsnf] b]lv ;f]tL ;Ddsf] df]^<af^f]sf bfofF 
jfofF 50 ld ;Dd

1,000,000.00

3 146 k'mnjf<L j*f g_= 3
es')*] rf]s 20 lsnf] ;Ddsf] df]^<af^f]sf bfofF 
jfofF 50 ld eGbf k%f*L

1,000,000.00

3 157 k'mnjf<L j*f g_= 3
a'Rrfsf]^ eGHofË b]lv pHjn :d[tL ejg 
;Ddsf] df]^<af^f]sf bfofF jfofF 50 ld ;Dd

1,000,000.00

b<<]^ cfO*L ;d'x b<-<]^sf] gfd

3 175 k'mnjf<L j*f g_= 3
es')*] kmlg{r<sf] af^f] x'Fb} es')*] l*k af]l<Ë 
;Ddsf] bfofF jfofF 50 ld ;Dd

800,000.00

3 160 k'mnjf<L j*f g_= 3
pHjn :d[tL ejg b]lv 21 lsnf] ;Ddsf] 
df]^<af^f]sf bfofF jfofF 50 ld eGbf k%f*L

600,000.00

3 144 k'mnjf<L j*f g_= 3
es')*] ltdfn <f]* ;f]tL vf]nf ;Ddsf] 
df]^<af^f]sf bfofF jfofF 50 ld eGbf k%f*L

600,000.00

3 177 k'mnjf<L j*f g_= 3
es')*] vf=kf=l*k af]l<Ë b]lv bfxfnrf}< ;Ddsf] 
bfofF jfofF 50 ld ;Dd

600,000.00

3 141 k'mnjf<L j*f g_= 3
20 lsnf] vfg]kfgL ;Ddsf] df]^<af^f]sf bfofF 
jfofF 50 ld ;Dd

500,000.00

3 149 k'mnjf<L j*f g_= 3
'̂lg^f< O{§f e§f ;Ddsf] df]^<af^f]sf bfofF jfofF 

50 ld ;Dd
500,000.00
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3 155 k'mnjf<L j*f g_= 3
kfTn]ufpF b]lv a'Rrfsf]^ eGHofË ;Ddsf] 
df]^<af^f]sf] bfofF jfofF 50 ld ;Dd

500,000.00

3 172 k'mnjf<L j*f g_= 3
es')*] kmlg{r<sf] af^f] x'Fb} Ans sf<vfgfsf] j< 
;f]tL vf]nf ;Ddsf] bfofF jfofF 50 ld eGbf 
k%f*L

500,000.00

3 173 k'mnjf<L j*f g_= 3
pHHjn :d[tL ejg b]lv gofF jl:t l<&]rf}< 
;Ddsf] bfofF jfofF 50 ld ;Dd

500,000.00

3 165 k'mnjf<L j*f g_= 3
Jof<]s b]lv es)*] lj=kL= <fhdfu{ ;Ddsf] 
df]^<af^f]sf] bfofF jfofF 50 ld ;Dd

500,000.00

3 158 k'mnjf<L j*f g_= 3
a'Rrfsf]^ eGHofË b]lv pHjn :d[tL ejg 
;Ddsf] df]^<af^f]sf bfofF jfofF 50 ld eGbf 
k%f*L

400,000.00

3 151 k'mnjf<L j*f g_= 3
af]l*{Ë *fF*f b]lv ('Ëf;F#' vf]nf ;Ddsf] 
df]^<af^f]sf bfofF jfofF 50 ld ;Dd

400,000.00

3 148 k'mnjf<L j*f g_= 3
20 lsnf] b]lv ;f]tL ;Ddsf] df]^<af^f]sf bfofF 
jfofF 50 ld eGbf k%f*L

400,000.00

3 451 k'mnjf<L j*f g_= 3
a'Rrfsf]^ a '̂s] a'Rrfsf]^ hf]*\g] df]^<af^f] bfof 
jfof 50 ld=;Dd

300,000.00

3 125 k'mnjf<L j*f g_= 3
lj=kL= <fhdfu{ hg hfu|Llt k|f=lj= df]^<af^f]sf 
bfofF jfofF 50 ld ;Dd

300,000.00

3 129 k'mnjf<L j*f g_= 3
lj=kL= <fhdfu{ &f*f]af^f] vfjf df]^<af^f]sf bfofF 
jfofF 50 ld ;Dd

300,000.00

3 135 k'mnjf<L j*f g_= 3
bnl;Ë] Jof<]s df]^<af^f]sf bfofF jfofF 50 ld 
;Dd

500,000.00

3 167 k'mnjf<L j*f g_= 3
a'Rrfsf]^ vf=kf= \̂ofÍL x'Fb} %fk ufpF 
df]^<af^f]sf bfofF jfofF 50 ld ;Dd

300,000.00

3 169 k'mnjf<L j*f g_= 3
bnl;Ë] sflzv)* kmfF^ ;Ddsf] df]^<af^f]sf 
bfofF jfofF 50 ld ;Dd

500,000.00

3 176 k'mnjf<L j*f g_= 3
es')*] kmlg{r<sf] af^f] x'Fb} es')*] l*k af]l<Ë 
;Ddsf] bfofF jfofF 50 ld eGbf k%f*L

300,000.00

3 161 k'mnjf<L j*f g_= 3
>L<fd j:tL &"nLkf]v<L df]^<af^f]sf bfofF jfofF 
50 ld ;Dd

250,000.00

3 62 k'mnjf<L j*f g_= 3
nsfOg] vfjf df]^<af^f]sf] bfFof jfFof 50 ld 
;Dd

250,000.00

3 133 k'mnjf<L j*f g_= 3
vfjf bnl;Ë] df]^<af^f]sf bfofF jfofF 50 ld 
;Dd

250,000.00

3 137 k'mnjf<L j*f g_= 3
yfkfu}<f] s'O{s]n y'Dsf df]^<af^f]sf bfofF jfofF 
50 ld ;Dd

250,000.00

3 156 k'mnjf<L j*f g_= 3
kfTn]ufpF b]lv a'Rrfsf]^ eGHofË ;Ddsf] 
df]^<af^f]sf] bfofF jfofF 50 ld eGbf k%f*L

250,000.00

3 127 k'mnjf<L j*f g_= 3
hg hfu|Llt k|f=lj= afF;vs{ sflzv)* vf]nf 
df]^<af^f]sf bfofF jfofF 50 ld ;Dd

200,000.00

b<<]^ cfO*L ;d'x b<-<]^sf] gfd

3 131 k'mnjf<L j*f g_= 3
a'Rrfsf]^ sf]^b]jL df]^<af^f]sf bfofF jfofF 50 
ld ;Dd

400,000.00

3 139 k'mnjf<L j*f g_= 3
lj=kL=<fhdfu{ cfrfo{ ufpF x'Fb} dfYnf]af^f] 
df]^<af^f]sf bfofF jfofF 50 ld ;Dd

200,000.00

3 142 k'mnjf<L j*f g_= 3
20 lsnf] vfg]kfgL ;Ddsf] df]^<af^f]sf bfofF 
jfofF 50 ld eGbf k%f*L

200,000.00

3 150 k'mnjf<L j*f g_= 3
'̂lg^f< O{§f e§f ;Ddsf] df]^<af^f]sf bfofF jfofF 

50 ld eGbf k%f*L
200,000.00

3 152 k'mnjf<L j*f g_= 3
af]l*{Ë *fF*f b]lv ('Ëf;F#' vf]nf ;Ddsf] 
df]^<af^f]sf bfofF jfofF 50 ld eGbf k%f*L

200,000.00

3 163 k'mnjf<L j*f g_= 3
&"nLkf]v<L sflzv)* kmfF^ df]^<af^f]sf] bfofF 
jfofF 50 ld ;Dd

200,000.00
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3 166 k'mnjf<L j*f g_= 3
Jof<]s b]lv es')*] lj=kL= <fhdfu{ ;Ddsf] 
df]^<af^f]sf bfofF jfofF 50 ld eGbf k%f*L

200,000.00

3 174 k'mnjf<L j*f g_= 3
pHHjn :d[tL ejg b]lv gofF jl:t l<&]rf}< 
;Ddsf] bfofF jfofF 50 ld eGbf k%f*L

200,000.00

3 178 k'mnjf<L j*f g_= 3
es')*] vf=kf=l*k af]l<Ë b]lv bfxfnrf}< ;Ddsf] 
bfofF jfofF 50 ld eGbf k%f*L

200,000.00

3 453 k'mnjf<L j*f g_= 3
20 lsnf] b]lv hoGt] *fF*f] ;Dd &f*f] af^f] 50 
ld= ;Dd

200,000.00

3 136 k'mnjf<L j*f g_= 3
bnl;Ë] Jof<]s df]^<af^f]sf bfofF jfofF 50 ld 
k%f*L

150,000.00

3 162 k'mnjf<L j*f g_= 3
>L<fd j:tL &"nLkf]v<L df]^<af^f]sf bfofF jfofF 
50 ld eGbf k%f*L

150,000.00

3 168 k'mnjf<L j*f g_= 3
a'Rrfsf]^ vf=kf= \̂ofÍL x'Fb} %fk ufpF 
df]^<af^f]sf bfofF jfofF 50 ld eGbf k%f*L

150,000.00

3 170 k'mnjf<L j*f g_= 3
bnl;Ë] sflzv)* kmfF^ ;Ddsf] df]^<af^f]sf 
bfofF jfofF 50 ld eGbf k%f*L

150,000.00

3 452 k'mnjf<L j*f g_= 3
a'Rrfsf]^ a '̂s] a'Rrfsf]^ hf]*\g] df]^<af^f] bfof 
jfof 50 ld= eGbf k%f*L

150,000.00

3 130 k'mnjf<L j*f g_= 3
lj=kL= <fhdfu{ &f*f]af^f] vfjf df]^<af^f]sf bfofF 
jfofF 50 ld eGbf k%f*L

150,000.00

3 134 k'mnjf<L j*f g_= 3
vfjf bnl;Ë] df]^<af^f]sf bfofF jfofF 50 ld 
eGbf k%f*L

125,000.00

3 138 k'mnjf<L j*f g_= 3
yfkfu}<f] s'O{s]n y'Dsf df]^<af^f]sf bfofF jfofF 
50 ld eGbf k%f*L

125,000.00

3 126 k'mnjf<L j*f g_= 3
lj=kL= <fhdfu{ hg hfu|Llt k|f=lj= df]^<af^f]sf 
bfofF jfofF 50 ld eGbf k%f*L

125,000.00

3 124 k'mnjf<L j*f g_= 3
nsfOg] vfjf df]^<af^f]sf] bfFof jfFof 50 ld 
eGbf k%f*L

100,000.00

3 128 k'mnjf<L j*f g_= 3
hg hfu|Llt k|f=lj= afF;vs{ sflzv)* vf]nf 
df]^<af^f]sf bfofF jfofF 50 ld k%f*L

100,000.00

3 132 k'mnjf<L j*f g_= 3
a'Rrfsf]^ sf]^b]jL df]^<af^f]sf bfofF jfofF 50 
ld eGbf k%f*L

100,000.00

3 140 k'mnjf<L j*f g_= 3
lj=kL=<fhdfu{ cfrfo{ ufpF x'Fb} dfYnf]af^f] 
df]^<af^f]sf bfofF jfofF 50 ld eGbf k%f*L

100,000.00

3 153 k'mnjf<L j*f g_= 3
h'<]nLy'Dsf ltdfn]af<L df]^<af^f]sf bfofF jfofF 
50 ld ;Dd

100,000.00

3 164 k'mnjf<L j*f g_= 3
&"nLkf]v<L sflzv)* kmfF^ df]^<af^f]sf] bfofF 
jfofF 50 ld eGbf k%f*L

100,000.00

g_.
b<<]^ cfO*L ;d'x b<-<]^sf] gfd

3 454 k'mnjf<L j*f g_= 3
20 lsnf] b]lv hoGt] *fF*f] ;Dd &f*f] 
af^f] 50 ld= eGbf k%f*L

100,000.00

3 154 k'mnjf<L j*f g_= 3
h'<]nLy'Dsf ltdfn]af<L df]^<af^f]sf bfofF 
jfofF 50 ld eGbf k%f*L

60,000.00

4 536 d]lygsf]^ 4
es')*] b]lv ltdfn <f]* kNnf] ;f]lt ;Dd 

2,000,000.00

4 213 d]lygsf]^ 4
bfxfnrf}< b]lv vfg]kfgL dfu{ ;DDsf] 
;*ssf] bfof jfof 50 ld= ;Dd

1,000,000.00

4 538 d]lygsf]^ 4
bfof jfof 50 ld ;Dd

800,000.00
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4 205 d]lygsf]^ 4
cf?^f< cf]emfyf]s ;*ssf] bfof jfof 
50 ld= ;Dd

800,000.00

4 537 d]lygsf]^ 4
es')*] b]lv ltdfn <f]* kNnf] ;f]lt ;Dd 

500,000.00

4 211 d]lygsf]^ 4 a];L x'Fb} cf]emfyf]s ;*ssf] bfof jfof 
50 ld=;Dd_

500,000.00

4 214 d]lygsf]^ 4
bfxfnrf}< b]lv vfg]kfgL dfu{ ;DDsf] 
;*ssf] bfof jfof 50 ld= k%f*L

400,000.00

4 206 d]lygsf]^ 4
cf?^f< cf]emfyf]s ;*ssf] bfof jfof 
50 ld k%f*L

400,000.00

4 539 d]lygsf]^ 4
bfof jfof 50 ld k*f*L

400,000.00

4 201 d]lygsf]^ 4

hf]<;Nnf b]lv s[i)f lg=df=lj= x'Fb} 
^]lnkmf]g ^fj< ;*ssf] bfofF jfof 50 ld 
;Dd_

300,000.00

4 212 d]lygsf]^ 4 a];L x'Fb} cf]emfyf]s ;*ssf] bfof jfof 
50 ld k%f*L

300,000.00

4 215 d]lygsf]^ 4
af]l*{Ë *f*f b]lv r?jf ;Ddsf] ;*ssf] 
bfof jfof 50ld= ;Dd

300,000.00

4 225 d]lygsf]^ 4
r?jf b]lv kfFrvfn g=kf= jfn'jf hf]*\g] 
;*ssf] bfof jfof 50 ld= ;Dd

300,000.00

4 561 d]lygsf]^ 4
af# vf]< %fk b]p<fnL ;*s ;*ssf] 
bfof jfof 50 ld ;Dd

250,000.00

4 207 d]lygsf]^ 4
cf]emfyf]s s[i)f lg=df=lj= ;*ssf] bfof 
jfof 50 ld= ;Dd_

250,000.00

4 209 d]lygsf]^ 4
s[i)f lg=df=lj= x'Fb} bfxfn y'Dsf ;*ssf] 
bfof jfof 50 ld= ;Dd

250,000.00

4 203 d]lygsf]^ 4
lj=kL= xfO{j], bfxfnrf}<, b]p<fnL ;*ssf] 
bfof jfof 50 ld= ;Dd

200,000.00

4 219 d]lygsf]^ 4
r?jf b]lv b]p<fnL ;Ddsf] ;*ssf] bfof 
jfof 50 ld= ;Dd

200,000.00

4 540 d]lygsf]^ 4
bfof jfof 50 ld

200,000.00

4 226 d]lygsf]^ 4
r?jf b]lv kfFrvfn g=kf= jfn'jf hf]*\g] 
;*ssf] bfof jfof 50 ld= k%f*L

150,000.00

4 562 d]lygsf]^ 4
af# vf]< %fk b]p<fnL ;*s ;*ssf] 
bfof jfof 50 ld eGbf k%f*L

150,000.00

4 208 d]lygsf]^ 4
cf]emfyf]s s[i)f lg=df=lj= ;*ssf] bfof 
jfof 50 ld k%f*L

100,000.00
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4 210 d]lygsf]^ 4
s[i)f lg=df=lj= x'Fb} bfxfn y'Dsf ;*ssf] 
bfof jfof 50 ld=k%f*L

100,000.00

4 216 d]lygsf]^ 4
af]l*{Ë *f*f b]lv r?jf ;Ddsf] ;*ssf] 
bfof jfof 50ld= k%f*L

100,000.00

4 221 d]lygsf]^ 4
r?jf b]lv b]p<fnL ;Ddsf] ;*ssf] bfof 
jfof 50 ld= k%f*L

100,000.00

4 541 d]lygsf]^ 4
bfof jfof 50 ld k%f*L

100,000.00

g_.
b<<]^ cfO*L ;d'x b<-<]^sf] gfd

4 204 d]lygsf]^ 4
lj=kL= xfO{j], bfxfnrf}<, b]p<fnL ;*ssf] bfof 
jfof 50 ld k%f*L

64,000.00

4 202 d]lygsf]^ 4
hf]<;Nnf b]lv s[i)f lg=df=lj= x'Fb} ]̂lnkmf]g ^fj< 
;*ssf] bfofF jfof 50 ld k%f*L

50,000.00

5 233 d]lygsf]^ 5
b]p<fnL b]lv e]*faf<L, kfFrvfn g=kf= l;dfgf 
;Ddsf] ;*ssf] bfof jfof 50 ld= ;Dd

400,000.00

5 240 d]lygsf]^ 5
lemu'vf]nf, d;<vf]nf, e]*faf<L b]p<fnL ;*ssf] 
bfof jfof 50 ld= ;Dd

300,000.00

5 247 d]lygsf]^ 5
sflnsf :s"n du<^f]n lr;fkfgL ;Ddsf] 
;*ssf] bfof jfof 50 ld= ;Dd_

240,000.00

5 234 d]lygsf]^ 5
b]p<fnL b]lv e]*faf<L, kfFrvfn g=kf= l;dfgf 
;Ddsf] ;*ssf] bfof jfof 50 ld= k%f*L

150,000.00

5 242 d]lygsf]^ 5
lemu'vf]nf, d;<vf]nf, e]*faf<L b]p<fnL ;*ssf] 
bfof jfof 50 ld= k%f*L

112,000.00

5 249 d]lygsf]^ 5
sflnsf :s"n du<^f]n lr;fkfgL ;Ddsf] 
;*ssf] bfof jfof 50 ld= k%f*L

96,000.00

6 567 d]lygsf]^ 6
es')*] b]lv ltdfn <f]* kNnf] ;f]lt ;Dd 
;*ssf] bfof jfof 50 ld leq

2,000,000.00

6 268 d]lygsf]^ 6
lj=kL= xfOj] b]lv lkknaf]^ lxn]vf]nf ;Dd -
;*ssf] bfof jfof 50 ld= ;Dd_

1,200,000.00

6 257 d]lygsf]^ 6
bfof jfof 50 ld= ;Dd_

1,000,000.00

6 323 d]lygsf]^ 6
kNnf] ;f]lt b]lv l;l$ljgfos a:tL ;]tL 

800,000.00

6 569 d]lygsf]^ 6
;f]lt vf]nf bfxfnrf}< ;*s ;*ssf] bfof jfof 
50 ld leq

800,000.00

6 474 d]lygsf]^ 6
cf?^f< sflnsfu'&L v]t x'b} l;dv]t a'$ 

ld leq
700,000.00

6 263 d]lygsf]^ 6
lxn]vf]nf lkknaf]^ b]lv x<]<fd dlGb< ;Dd 

600,000.00

6 321 d]lygsf]^ 6
hgs df=lj= cd< k|f lj s '̂Gh] vf]nf ;Dd 

500,000.00

6 568 d]lygsf]^ 6
es')*] b]lv ltdfn <f]* kNnf] ;f]lt ;Dd 
;*ssf] bfof jfof 50 ld k%f*L

500,000.00

6 270 d]lygsf]^ 6
lj=kL= xfOj] b]lv lkknaf]^ lxn]vf]nf ;Dd -
;*ssf] bfof jfof 50 ld= k%f*L

400,000.00

6 258 d]lygsf]^ 6
bfof jfof 50 ld= k%f*L

400,000.00
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6 476 d]lygsf]^ 6
l;l$ljgfos j:tL ;]tL lkknaf]^ b]lv hf]<;Nnf 

400,000.00

6 475 d]lygsf]^ 6
cf?^f< sflnsfu'&L v]t x'b} l;dv]t a'$ 

ld k%f*L
400,000.00

6 470 d]lygsf]^ 6
hgs df lj nfdL*f_*f ;]tL lkknaf]^ x'b} 

50 ld ;Dd
400,000.00

6 278 d]lygsf]^ 6
kf}*]nrf}<<ftdf^f -;*ssf] bfof jfof 50 ld= 
;Dd_

400,000.00

6 274 d]lygsf]^ 6
kf}*]nrf}<<ftdf^f k'tnLsf] lrxfg ;*s 

400,000.00

6 570 d]lygsf]^ 6
;f]lt vf]nf bfxfnrf}< ;*s ;*ssf] bfof jfof 
50 ld k%f*L

400,000.00

6 322 d]lygsf]^ 6
kNnf] ;f]lt b]lv l;l$ljgfos a:tL ;]tL 

k%f*L
400,000.00

6 563 d]lygsf]^ 6
lxn]vf]nf b]lv r'xfg] cd< k|f lj s "̂Gh] vf]nf 
;Dd df]^<af^f]sf] bfof jfof 50 ld ;Dd

300,000.00

6 287 d]lygsf]^ 6
hf]<;Nnf b]lv s[i)f lg df lj x'b} ]̂lnkmf]g 

300,000.00

6 463 d]lygsf]^ 6
jfof 50 ld ;Dd

250,000.00

6 320 d]lygsf]^ 6
hgs df=lj= cd< k|f lj s '̂Gh] vf]nf ;Dd 

250,000.00

6 341 d]lygsf]^ 6
kf}*]nrf}< vfg]kfgL dfu{ nf]tfu}<] ;]tLlkknaf]^ 

leq
200,000.00

6 276 d]lygsf]^ 6
kf}*]nrf}<<ftdf^f k'tnLsf] lrxfg ;*s 

200,000.00

6 461 d]lygsf]^ 6
jfof 50 ld leq

200,000.00

6 465 d]lygsf]^ 6
bfof jfof 50 ld ;Dd

200,000.00

6 468 d]lygsf]^ 6
jfo 50 ld ;Dd

200,000.00

6 471 d]lygsf]^ 6
hgs df lj nfdL*f_*f ;]tL lkknaf]^ x'b} 

50 ld k%f*L
200,000.00

6 472 d]lygsf]^ 6
v]n d}bfg rf}< d]lygsf]^ b]lv kf}*]n v]t x'b} 

50 ld le
200,000.00

6 477 d]lygsf]^ 6
l;l$ljgfos j:tL ;]tL lkknaf]^ b]lv hf]<;Nnf 

200,000.00

6 262 d]lygsf]^ 6
lxn]vf]nf lkknaf]^ b]lv x<]<fd dlGb< ;Dd 

200,000.00

6 565 d]lygsf]^ 6
hf]<;Nnf sfdL^f]n #f^fkf^L x'b} lkknaf]^ 
;*s ;*ssf] bfof jfof 50 ld ;Dd

200,000.00

6 339 d]lygsf]^ 6
kf}*]nrf}< ltdfn <f]* -;*ssf] bfof jfof 50 
ld= ;Dd_

200,000.00

6 281 d]lygsf]^ 6
kf}*]nrf}<<ftdf^f -;*ssf] bfof jfof 50 ld= 
k%f*L

150,000.00
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6 290 d]lygsf]^ 6
hf]<;Nnf b]lv s[i)f lg df lj x'b} ]̂lnkmf]g 

150,000.00

6 564 d]lygsf]^ 6
lxn]vf]nf b]lv r'xfg] cd< k|f lj s "̂Gh] vf]nf 
;Dd df]^<af^f]sf] bfof jfof 50 ld k%f*L

125,000.00

6 332 d]lygsf]^ 6
50 ld= ;Dd_

100,000.00

6 462 d]lygsf]^ 6
jfof 50 ld eGbf k%f*L

100,000.00

6 464 d]lygsf]^ 6
jfof 50 ld eGbf k%f*L

100,000.00

6 467 d]lygsf]^ 6
kf}*]nrf}< vfg]kfgL dfu{ nf]tfu}<] ;]tLlkknaf]^ 

eGbf k%f*L
100,000.00

6 469 d]lygsf]^ 6
jfo 50 ld eGbf k%f*L

100,000.00

6 473 d]lygsf]^ 6
v]n d}bfg rf}< d]lygsf]^ b]lv kf}*]n v]t x'b} 

50 k%f*L
100,000.00

6 478 d]lygsf]^ 6
k%f*L

100,000.00

6 466 d]lygsf]^ 6
bfof jfof 50 ld eGbf k%f*L

75,000.00

6 566 d]lygsf]^ 6
hf]<;Nnf sfdL^f]n #f^fkf^L x'b} lkknaf]^ 
;*s ;*ssf] bfof jfof 50 ld k%f*L

75,000.00

6 334 d]lygsf]^ 6
hf]<;Nnf k"m;|]*fF*f ;*s -;*ssf] bfof jfof 
50 ld= k%f*L

50,000.00

7 237 vgfnyf]s 7
rf}ls*fF*f v<Laf]^ <f]zLk'n ;*ssf] bfof jfof 
50 ld ;Dd

1,200,000.00

7 228 vgfnyf]s 7
25 lsnf] rf}ls*fF*f lj=lk dfu{n] %]fPsf] 
;*ssf] bfof jfof 50 ld ;Dd

1,200,000.00

7 239 vgfnyf]s 7
rf}ls*fF*f <ftdf^f ^f< af^f] ;*ssf] bfof jfof 
50 ld ;Dd

500,000.00

7 238 vgfnyf]s 7
rf}ls*fF*f v<Laf]^ <f]zLk'n ;*ssf] bfof jfof 
50 ld eGbf k%f*L

400,000.00

7 229 vgfnyf]s 7
25 lsnf] rf}ls*fF*f lj=lk dfu{n] %]fPsf] 
;*ssf] bfof jfof 50 ld eGbf k%f*L

400,000.00

7 217 vgfnyf]s 7
dfYnf] ^f]n tNnf] a]l; df]^< af^f] ;*ssf] bfof 
jfof 50 ld ;Dd

300,000.00

7 495 vgfnyf]s 7
rf}tf<f b]lv efu]*f_*f ;Dd ;*s bf_of jfof 50 
ld ;Dd

300,000.00

7 497 vgfnyf]s 7
26 lsnf] b]lv k%fl* rf}tf<f ;Dd ;*s bfof 
jfof 50 ld ;Dd

300,000.00

7 499 vgfnyf]s 7
efu] vf]nf b]lv af}*fO ;Dd ;*s bfof jfof 
50 ld ;Dd

300,000.00

7 501 vgfnyf]s 7
rf}tf<f b]lv s'nfOg yfg ;Dd ;*s bf_of jfof 
50 ld ;Dd

300,000.00

7 505 vgfnyf]s 7 j<jf]^ vfsl; b]lv tfs]{ vf]nf ;Dd 50 ld 300,000.00

7 507 vgfnyf]s 7
jf}*fO cf]vn] kf]v<L ^f< e*f<] vfsl; ;*s 
bfof jfof 50 ld ;Dd

300,000.00

7 493 vgfnyf]s 7
1 g k'n b]lv rf}tf<f ;Ddsf] ;*s bfof jfof 
50 ld ;Dd

200,000.00

7 503 vgfnyf]s 7
s'nfOgyfg b]lv b]ljyfg ;Dd ;*s bfof jfof 
50 ld

200,000.00

7 236 vgfnyf]s 7 rf}ls*fF*f e*f<] 200,000.00
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7 241 vgfnyf]s 7
rf}ls*fF*f <ftdf^f^f< df]^<af^f] ;*ssf] bfof 
jfof 50 ld eGbf k%f*L

200,000.00

7 230 vgfnyf]s 7
kf}jf kmfk< rf}< df]^< af^f] ;*ssf] bfof jfof 
50 ld ;Dd

160,000.00

7 220 vgfnyf]s 7
;]lt b]lj k|f=lj Xjfsf{ df]^< af^f] ;*ssf] bfof 
jfof 50 ld ;Dd

150,000.00

7 496 vgfnyf]s 7
rf}tf<f b]lv efu]*f_*f ;Dd ;*s bf_of jfof 50 
ld k%fl*

150,000.00

7 498 vgfnyf]s 7
26 lsnf] b]lv k%fl* rf}tf<f ;Dd ;*s bfof 
jfof 50 ld k%fl*

150,000.00

7 500 vgfnyf]s 7
efu] vf]nf b]lv af}*fO ;Dd ;*s bfof jfof 
50 ld k%fl*

150,000.00

7 502 vgfnyf]s 7
rf}tf<f b]lv s'nfOg yfg ;Dd ;*s bf_of jfof 
50 ld k%fl*

150,000.00

7 506 vgfnyf]s 7
j<jf]^ vfsl; b]lv tfs]{ vf]nf ;Dd 50 ld 
k%fl*

150,000.00

7 508 vgfnyf]s 7
jf}*fO cf]vn] kf]v<L ^f< e*f<] vfsl; ;*s 
bfof jfof 50 ld k%fl*

150,000.00

7 218 vgfnyf]s 7
dfYnf] ^f]n tNnf] a]l; df]^< af^f] ;*ssf] bfof 
jfof 50 ld eGbf k%f*L

150,000.00

7 494 vgfnyf]s 7
1 g k'n b]lv rf}tf<f ;Ddsf] ;*s bfof jfof 
50 ld k%fl*

100,000.00

7 504 vgfnyf]s 7
s'nfOgyfg b]lv b]ljyfg ;Dd ;*s bfof jfof 
50 ld k%fl*

100,000.00

7 222 vgfnyf]s 7
;]lt b]lj k|f=lj Xjfsf{ df]^< af^f] ;*ssf] bfof 
jfof 50 ld eGbf k%f*L

100,000.00

7 223 vgfnyf]s 7 Hofld<] ^f]n 100,000.00

7 231 vgfnyf]s 7 kf}jf kmfk< rf}< df]^< af^f] cGo k%f*L 64,000.00

7 232 vgfnyf]s 7 e*f<] ufp ;a} 50,000.00

7 235 vgfnyf]s 7 kmfk< rf}< ;a} 50,000.00

8 348 vgfnyf]s 8 vf]n]v]t 1 Gf_=k'n b]lv lj=kL dfu{ 1,000,000.00

8 352 vgfnyf]s 8 1 Gf_=k'n b]lv 25 lsnf] df]^< af^f] 1,000,000.00

8 335 vgfnyf]s 8 l;dvf]nf r'r'<] lj=kL= <fhdfu{ gf}lj;] 800,000.00

8 333 vgfnyf]s 8 wd{;fn bd} kf]v<L bfKrf df]^< af^f] 500,000.00

8 353 vgfnyf]s 8 1 Gf_=k'n b]lv 25 lsnf] df]^< af^f] cGo k%f*L 400,000.00

8 350 vgfnyf]s 8 vf]n]v]t 1 Gf_=k'n b]lv lj=kL dfu{ cGo k%f*L 400,000.00

8 324 vgfnyf]s 8
hod_un^f<g;{<L b]lv s'nfOgyfg ;Ddsf] 
hUufx?

400,000.00

8 325 vgfnyf]s 8 l;dvf]nf b]lv s'nfOgyfg ;Ddsf] hUufx? 300,000.00

8 330 vgfnyf]s 8 k'hf<Lsf] ^fk' ;fpg] *f*fF sfqm] df]^< af^f] 300,000.00

8 327 vgfnyf]s 8 s'nfOgyfg b]lv l;d*fF*f df]^< af^f] 250,000.00

8 336 vgfnyf]s 8 bd} kf]v<L dx]Gb| rf}< bfKrf v)* df]^< af^f] 240,000.00

8 331 vgfnyf]s 8 (f]*]lg vf]N;f] lkknrf}< wd{;fn df]^< af^f] 225,000.00

8 328 vgfnyf]s 8
hod_un^f< lr;fkflg <ftdf ]̂ s'nfOgyfg df]^< 
af^f] 50 ld ;Dd

200,000.00

8 342 vgfnyf]s 8 bfKrf df]^< af^f] af^ sfqm]^f]n df]^< af^f] 200,000.00

8 346 vgfnyf]s 8 ;fpg] df]^<*fF*f lkknaf]^ sfqm] gf}lj;] v)* 160,000.00

8 326 vgfnyf]s 8 s'nfOgyfg b]lv km's]{ ;Nnf ;Ddsf hUufx? 160,000.00

8 329 vgfnyf]s 8 km's]{ ;Nnf b]lv (f]*]lg vf]N;f] ;Dd 150,000.00

8 344 vgfnyf]s 8 sfqm] kfTn] v{s df]^< af^f] 150,000.00
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8 492 vgfnyf]s 8
hod_un^f< lr;fkflg <ftdf ]̂ s'nfOgyfg df]^< 
af^f] 50 ld k%f*L

100,000.00

8 337 vgfnyf]s 8
bd} kf]v<L dx]Gb| rf}< bfKrf v)* df]^< af^f] 
50 ld k%fl*

100,000.00

8 338 vgfnyf]s 8 dx]Gb| rf}< kf}jf df]^< af^f] 100,000.00

8 343 vgfnyf]s 8
bfKrf df]^< af^f] af^ sfqm]^f]n df]^< af^f] 
k%fl*

100,000.00

8 347 vgfnyf]s 8
;fpg] df]^<*fF*f lkknaf]^ sfqm] gf}lj;] v)* 
cGo k%fl*

100,000.00

8 340 vgfnyf]s 8 dx]Gb| rf}< kf}jf df]^< af^f] cGo k%fl* 64,000.00

8 345 vgfnyf]s 8 sfqm] kfTn] v{s df]^< af^f] k%fl* 50,000.00

9 277 vgfnyf]s 9
es')*] rf]s b]lv lj=kL u]i^ xfp; ;Dd -lj=kL= 
xfOj]sf] bfofF jfofF 50 ld ;Dd_

6,000,000.00

9 280 vgfnyf]s 9
lj=kL u]i^ xfp; b]lv bfKrf k"n ;Dd -lj=kL= 
xfOj]sf] bfofF jfofF 50 ld ;Dd_

6,000,000.00

9 307 vgfnyf]s 9
gf}lj;] k'n b]lv l;dvf]lN; lj=kL xfOj]sf] bfofF 
jfofF 50 ld ;Dd_

5,000,000.00

9 283 vgfnyf]s 9
es')*] rf]sb]lv k|x<L rf}ls ;Dd af^f]sf] bfofF 
jfofF 50 ld ;Dd_

3,000,000.00

9 285 vgfnyf]s 9
es')*] rf]s b]lv bfKrf vf]nf ;Dd -es')*] 
bfKrf af^f]sf] bfofF jfofF 50 ld ;Dd_

2,500,000.00

9 486 vgfnyf]s 9 lj lk xfOj] jf^ a'$ Ps]*]ld ;Dd 50 ld 2,500,000.00

9 488 vgfnyf]s 9 a'$ Ps]*]ld b]lv rr{ bfl<d^f< ;Dd 50 ld 2,000,000.00

9 288 vgfnyf]s 9
gf}lj;] k'n bfld<^f< x'Fb} ltdfn hfg] af^f] ;Dd 

2,000,000.00

9 308 vgfnyf]s 9
gf}lj;] k'n b]lv l;dvf]lN; lj=kL xfOj]sf] bfofF 
jfofF 50 ld ;Dd k%fl*sf

2,000,000.00

9 282 vgfnyf]s 9
lj=kL u]i^ xfp; b]lv bfKrf k"n ;Dd -lj=kL= 
xfOj]sf] bfofF jfofF 50 ld eGbf k%f*L

1,500,000.00

9 279 vgfnyf]s 9
es')*] rf]s b]lv lj=kL u]i^ xfp; ;Dd -lj=kL= 
xfOj]sf] bfofF jfofF 50 ld eGbf k%f*L

1,500,000.00

9 484 vgfnyf]s 9 lj lk xfOj] jf^ ;]<f hf]*g] af^f] 50 ld ;Dd 1,500,000.00

9 489 vgfnyf]s 9
a'$ Ps]*]ld b]lv rr{ bfl<d^f< ;Dd 50 ld 
k%fl*

1,000,000.00

9 289 vgfnyf]s 9
gf}lj;] k'n bfld<^f< x'Fb} ltdfn hfg] af^f] ;Dd 

k%f*L
1,000,000.00

9 286 vgfnyf]s 9
es')*] rf]s b]lv bfKrf vf]nf ;Dd -es')*] 
bfKrf af^f]sf] bfofF jfofF 50 ld eGbf k%f*L

1,000,000.00

9 309 vgfnyf]s 9 gf}lj;] k'n b]lv hod_un ^f< df]^< af^f] 1,000,000.00

9 487 vgfnyf]s 9 lj lk xfOj] jf^ a'$ Ps]*]ld ;Dd 50 ld k%fl* 1,000,000.00

9 311 vgfnyf]s 9 gf}lj;] sfqm] df]^< af^f] gljg :s'n :fDd 1,000,000.00

9 485 vgfnyf]s 9 lj lk xfOj] jf^ ;]<f hf]*g] af^f] 50 ld k%fl* 800,000.00

9 305 vgfnyf]s 9
hS;g £o"^f< nf];] df]^<af^f] -;*ssf] bfofF 
jfofF 50 ld ;Dd_

600,000.00

9 571 vgfnyf]s 9
k|x<L rf}sL b]lv cfdL{sf] u]^ ;Dd es')*] 
bnl;u] af^f]sf] bfof jfof 50 ld ;Dd

1,000,000.00

9 312 vgfnyf]s 9
gf}lj;] sfqm] df]^< af^f] gljg :s'n :fDd cGo 
k%fl*

400,000.00
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9 310 vgfnyf]s 9
gf}lj;] k'n b]lv hod_un ^f< df]^< af^f]sf] 
k%fl*

400,000.00

9 301 vgfnyf]s 9
bfKrf vf]nf b]lv <hd kf]v<L df]^<af^f] -
;*ssf] bfofF jfofF 50 ld= ;Dd_

400,000.00

9 303 vgfnyf]s 9 bfKrf vf]nf b]lv b]p<f<fln ;Nn]*f]n df]^< af^f] 300,000.00

9 306 vgfnyf]s 9
hS;g £o"^f< nf];] df]^<af^f] -;*ssf] bfofF 
jfofF 50 ld eGbf k%f*L

300,000.00

9 313 vgfnyf]s 9 gljg :s'n b]lv k'hf<L y'Dsf sfqm] af^f]df 500,000.00

9 315 vgfnyf]s 9
d'lvof^f]n b]lv Hof]lt; *fF*f ;Dd bfKrf df]^< 
af^f]

300,000.00

9 490 vgfnyf]s 9
<hd kf]v<L y'Dsf *f_*f x'b} gljg k|f lj ;Ddsf] 

200,000.00

9 572 vgfnyf]s 9
es")*] rf]sb]lv cfdL{sf] u]^ ;Dd es')*] 
bnl;u] af^f]sf] bfof jfof 50 ld eGbf k%f*L

200,000.00

9 317 vgfnyf]s 9 led;]gyfg wd{;fn bfKrf df]^< af^f] blIf)f tkm{ 200,000.00

9 319 vgfnyf]s 9 tNnf] xl^of a<af]^ df]^< af^f]sf] cGo k%fl* 200,000.00

9 302 vgfnyf]s 9
bfKrf vf]nf b]lv <hd kf]v<L df]^<af^f] -
;*ssf] bfofF jfofF 50 ld= eGbf k%f*L

150,000.00

9 304 vgfnyf]s 9
bfKrf vf]nf b]lv b]p<f<fln ;Nn]*f]n df]^< 
af^fsf] k%fl*

150,000.00

9 314 vgfnyf]s 9
gljg :s'n b]lv k'hf<L y'Dsf sfqm] af^f]df cGo 
k%fl*

150,000.00

9 483 vgfnyf]s 9
es')*] rf]sb]lv rf}ls ;Dd af^f]sf] bfofF jfofF 
50 ld k%f*L

100,000.00

9 491 vgfnyf]s 9
<hd kf]v<L y'Dsf *f_*f x'b} gljg k|f lj ;Ddsf] 

100,000.00

9 316 vgfnyf]s 9
d'lvof^f]n b]lv Hof]lt; *fF*f ;Dd bfKrf df]^< 
af^f] cGo k%fl*

100,000.00

9 318 vgfnyf]s 9
led;]gyfg wd{;fn bfKrf df]^< af^f] blIf)f 
tkm{ cGo k%fl*

100,000.00

10 82 k'<fgfufpF 10 bfKrf ;*ssf] bfofF jfofF 50 ld ;Dd 400,000.00

10 363 k'<fgfufpF 10
k'<fgfufpF x'Fb} :jf:Yo rf}sL df]^<af^f]sf] bfofF 
jfofF 50 ld ;Dd

300,000.00

10 374 k'<fgfufpF 10 kf&s^f]n df]^<af^f]sf] bfofF jfofF 50 ld ;Dd 300,000.00

10 351 k'<fgfufpF 10 l;Dn] nx<] ;*ssf] bfofF jfofF 50 ld ;Dd 200,000.00

10 355 k'<fgfufpF 10 a;]<L df]^<af^f]sf] bfofF jfofF 50 ld ;Dd 200,000.00

10 371 k'<fgfufpF 10
tfdfª ufpF a;]^L df]^<af^f]sf] bfofF jfofF 50 
ld ;Dd

200,000.00

10 359 k'<fgfufpF 10 l;du}<f df]]^<af^f]sf] bfofF jfofF 50 ld ;Dd 164,000.00

10 349 k'<fgfufpF 10 bfKrf ;*ssf] bfofF jfofF 50 ld k%f*L 100,000.00

10 368 k'<fgfufpF 10 jgdfem df]^<af^f]sf] bfofF jfofF 50 ld ;Dd 100,000.00

10 354 k'<fgfufpF 10 l;Dn] nx<] ;*ssf] bfofF jfofF 50 ld k%f*L 50,000.00

10 361 k'<fgfufpF 10 l;du}<f df]]^<af^f]sf] bfofF jfofF 50 ld k%f*L 50,000.00

10 370 k'<fgfufpF 10 jgdfem df]^<af^f]sf] bfofF jfofF 50 ld k%f*L 50,000.00

10 372 k'<fgfufpF 10
tfdfª ufpF a;]^L df]^<af^f]sf] bfofF jfofF 50 
ld k%f*L

50,000.00
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10 375 k'<fgfufpF 10 kf&s^f]n df]^<af^f]sf] bfofF jfofF 50 ld k%f*L 50,000.00

10 356 k'<fgfufpF 10 a;]<L df]^<af^f]sf] bfofF jfofF 50 ld k%f*L 50,000.00

11 376 k'<fgfufpF 11
bfKrf gf;kfltaf]^ bf<]uf}*f P];]n'rf}< bfKrf k"n 
df]^<af^f]sf] bfofF jfofF 50 ld ;Dd

250,000.00

11 378 k'<fgfufpF 11
vs{rf}< l;dkfgL%fk df]^<af^f]sf] bfofF jfofF 
50 ld ;Dd

200,000.00

11 382 k'<fgfufpF 11
gdf]a'$ gf]lj;] df]^<af^f]sf] bfofF jfofF 50 ld 
;Dd

200,000.00

11 384 k'<fgfufpF 11
kf}*\ofnyf]s uf]kfn kf]v<L df]^<af^f]sf] bfofF 
jfofF 50 ld ;Dd

200,000.00

11 389 k'<fgfufpF 11
bf<]uf}*f ;Nn]<L^f< df]^<af^f]sf] bfofF jfofF 50 
ld ;Dd

200,000.00

11 391 k'<fgfufpF 11 lzv<s ]̂<L df]^<af^f]sf] bfofF jfofF 50 ld ;Dd 200,000.00

11 377 k'<fgfufpF 11
bfKrf gf;kfltaf]^ bf<]uf}*f P];]n'rf}< bfKrf k"n 
df]^<af^f]sf] bfofF jfofF 50 ld k%f*L

75,000.00

11 383 k'<fgfufpF 11
gdf]a'$ gf]lj;] df]^<af^f]sf] bfofF jfofF 50 ld 
k%f*L

75,000.00

11 379 k'<fgfufpF 11
vs{rf}< l;dkfgL%fk df]^<af^f]sf] bfofF jfofF 
50 ld k%f*L

50,000.00

11 385 k'<fgfufpF 11
kf}*\ofnyf]s uf]kfn kf]v<L df]^<af^f]sf] bfofF 
jfofF 50 ld k%f*L

50,000.00

11 390 k'<fgfufpF 11
bf<]uf*f ;Nn]<L^f< df]^<af^f]sf] bfofF jfofF 50 
ld k%f*L

50,000.00

11 392 k'<fgfufpF 11 lzv<s ]̂<L df]^<af^f]sf] bfofF jfofF 50 ld k%f*L 50,000.00

12 360 %q]afFem 12
jfof 50 ld ;Dd

400,000.00

12 357 %q]afFem 12
sfe|] gdf]j'$ bfKrf ;*s ltdlN;gf ^f]n 
;*ssf] bfof jfof 50 ld ;Dd

400,000.00

12 364 %q]afFem 12
ld= ;Dd

200,000.00

12 369 %q]afFem 12
u}<fkf^L ;Tofnyf]s donkfgL ;*s ;*ssf] 
bfof jfof 50 ld= ;Dd_

200,000.00

12 366 %q]afFem 12
u}<fkf^L sfsL{%]*f ;*s ;*ssf] bfof jfof 50 
ld= ;Dd_

150,000.00

12 509 %q]afFem 12
50 ld ;Dd

150,000.00

12 358 %q]afFem 12
sfe|] gdf]j'$ bfKrf ;*s ltdlN;gf ^f]n 
;*ssf] bfof jfof 50 ld eGbf k%f*L

100,000.00

12 362 %q]afFem 12
jfof 50 ld k%fl*

100,000.00

12 373 %q]afFem 12
u}<fkf^L ;Tofnyf]s donkfgL ;*s ;*ssf] 
bfof jfof 50 ld= eGbf k%f*L

90,000.00

12 510 %q]afFem 12
50 ld k%f*L

90,000.00

12 365 %q]afFem 12
ld= k%fl*

90,000.00

12 367 %q]afFem 12
u}<fkf^L sfsL{%]*f ;*s ;*ssf] bfof jfof 50 
ld= eGbf k%f*L

50,000.00

13 388 %q]afFem 13
bfKrf g]kfg] kmnfd] ;fF#' ;*s, uxt] b]lv uxt] 
l*lx ;Dd -;*ssf] bfof jfof 50 ld= ;Dd_

300,000.00
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13 381 %q]afFem 13
bfKrf g]kfg] kmnfd] ;f#F' ;*s, bfKrf ahf< 
b]lv rf}tf<f ;Dd -;*ssf] bfof jfof 50 ld=

200,000.00

13 386 %q]afFem 13
bfKrf g]kfg] kmnfd] ;fF#' ;*s, g]kfg] e~Hofª 
b]lv afudf<f ;Dd -;*ssf] bfof jfof 50 ld= 
;Dd_

200,000.00

g_.
b<<]^ cfO*L ;d'x b<-<]^sf] gfd

13 514 %q]afFem 13
gf;kfltaf]^ bDa' *f_*f u_uf#f^ lxn] ;*s 

200,000.00

13 515 %q]afFem 13
gf;kfltaf]^ bDa' *f_*f u_uf#f^ lxn] ;*s 

100,000.00

13 380 %q]afFem 13
bfKrf g]kfg] kmnfd] ;f#F' ;*s, bfKrf ahf< 
b]lv rf}tf<f ;Dd -;*ssf] bfof jfof 50 ld= 
k%f*L

100,000.00

13 393 %q]afFem 13
bfKrf g]kfg] kmnfd] ;fF#' ;*s, uxt] b]lv uxt] 
l*lx ;Dd -;*ssf] bfof jfof 50 ld= eGbf 
k%f*L

100,000.00

13 394 %q]afFem 13
bfKrf *Da' *fF*f lxn]vf]nf ;*s, ;*ssf] bfof 
jfof 50 ld= ;Dd_

100,000.00

13 396 %q]afFem 13
bfKrf donkfgL uf]kfn kf]v<L ;*s, ;*ssf] 
bfof jfof 50 ld ;Dd

100,000.00

13 512 %q]afFem 13
bfKrf g]kfg] e~Hofª afudf<f dfYnfyfg ;Dd 

100,000.00

13 513 %q]afFem 13
bfKrf g]kfg] e~Hofª afudf<f dfYnfyfg ;Dd 

50,000.00

13 387 %q]afFem 13
bfKrf g]kfg] kmnfd] ;fF#' ;*s, g]kfg] e~Hofª 
b]lv afudf<f ;Dd -;*ssf] bfof jfof 50 ld= 
eGbf k%f*L

50,000.00

13 395 %q]afFem 13
bfKrf *Da' *fF*f lxn]vf]nf ;*s, ;*ssf] bfof 
jfof 50 ld= eGbf k%f*L

50,000.00

13 397 %q]afFem 13
bfKrf donkfgL uf]kfn kf]v<L ;*s, ;*ssf] 
bfof jfof 50 ld eGbf k%f*L

50,000.00

14 400 *<fpg]kf]v<L 14
tNnf] xl^of u}<fkf^L ;*ssf] bfofF jfofF 50 ld 
;Dd

400,000.00

14 398 *<fpg]kf]v<L 14
a<jf]^ ;d'Gb|] enfo ;*ssf] bfof jfof 50 ld 
;Dd

400,000.00

14 402 *<fpg]kf]v<L 14
s[lif ejg cf?jf<L rf}< ;*ssf] bfofF jfofF 50 
ld ;Dd

250,000.00

14 520 *<fpg]kf]v<L 14
clwsf<Lyf]s u}<fkfl^ ;*ssf] bfof jfof 50 ld 
;Dd

200,000.00

14 522 *<fpg]kf]v<L 14
u}<fkfl^ dfYnfufp_ ;*ssf] bfof jfof 50 ld 
;Dd

200,000.00

14 523 *<fpg]kf]v<L 14
s'z'n]kfl^ ;fpsf] {̂ ;kg]Zj< ;*ssf] bfof jfof 
50 ld ;Dd

200,000.00

14 401 *<fpg]kf]v<L 14
tNnf] xl^of e'kfn] jg kbfnL ;*ssf] bfofF 
jfofF 50 ld ;Dd

200,000.00

14 403 *<fpg]kf]v<L 14
;*ssf] bfofF jfofF 50 ld ;Dd

200,000.00

14 404 *<fpg]kf]v<L 14
cf?jf<L rf}< %fk %x<f ;*ssf] bfofF jfofF 50 
ld ;Dd

200,000.00

14 518 *<fpg]kf]v<L 14
s[lif ejg cf?jf<L rf}< ;*ssf] bfofF jfofF 50 
ld eGbf k%f*L

150,000.00

14 421 *<fpg]kf]v<L 14
cf?jf<L rf}< %fk %x<f ;*ssf] bfofF jfofF 50 
ld eGbf k%f*L

120,000.00
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14 524 *<fpg]kf]v<L 14
s'z'n]kfl^ ;fpsf] {̂ ;kg]Zj< ;*ssf] bfof jfof 
50 ld k%f*L

120,000.00

14 521 *<fpg]kf]v<L 14
clwsf<Lyf]s u}<fkfl^ ;*ssf] bfof jfof 50 ld 
k%fl*

120,000.00

14 519 *<fpg]kf]v<L 14
;*ssf] bfofF jfofF 50 ld k%f*L

120,000.00

14 517 *<fpg]kf]v<L 14
tNnf] xl^of e'kfn] jg kbfnL ;*ssf] bfof 
jfof 50 ld eGbf k%f*L

120,000.00

14 516 *<fpg]kf]v<L 14
a<jf]^ ;d'Gb|] enfo ;*ssf] bfof jfof 50 ld 
k%fl*

100,000.00

15 534 *<fpg]kf]v<L 15
tfs]{ bf]efg lkknaf]^ b]lv vfS;L hf]*\g] 

500,000.00

g_.
b<<]^ cfO*L ;d'x b<-<]^sf] gfd

15 532 *<fpg]kf]v<L 15
jfof 50 ld

500,000.00

15 411 *<fpg]kf]v<L 15 lkkn^f< tfs]{ ;*ssf] bfofF jfofF 50 ld ;Dd 500,000.00

15 409 *<fpg]kf]v<L 15 400,000.00

15 408 *<fpg]kf]v<L 15 400,000.00

15 530 *<fpg]kf]v<L 15
gf<fo)f s'jf ;'kg]Zj< x'b} tfs]{ vf]nf ;*s 

300,000.00

15 528 *<fpg]kf]v<L 15 lkkn^f< -bfl<daf]^ ;*s 300,000.00

15 527 *<fpg]kf]v<L 15 lkkn^f< tfs]{ ;*ssf] bfofF jfofF 50 ld k%fl* 200,000.00

15 529 *<fpg]kf]v<L 15 gf<fo)f s'jf a'(f:jf<f ;*s 200,000.00

15 533 *<fpg]kf]v<L 15
jfof 50 k%fl*

200,000.00

15 535 *<fpg]kf]v<L 15
tfs]{ bf]efg lkknaf]^ b]lv vfS;L hf]*\g] 

200,000.00

15 531 *<fpg]kf]v<L 15
gf<fo)f s'jf ;'kg]Zj< x'b} tfs]{ vf]nf ;*s 

150,000.00

15 525 *<fpg]kf]v<L 15
k%fl*

100,000.00

15 526 *<fpg]kf]v<L 15 100,000.00

;fljs uf=lj=;= xfn gdf]a'4 ljj/0f k|:tfljt k|lt /f]kgL

1 sfgk"/ sfnfkfgL 5 v<bf<kfl^ b]]lv kf}jf ;Dd ;*ssf] 
bfofF jfofF 50 ld ;Dd

400,000.00             

2 sfgk"/ sfnfkfgL 5 v<bf<kfl^ b]]lv kf}jf ;Dd ;*ssf] 
bfofF jfofF 50 ld eGbf k%f*L 

240,000.00             

3 sfgk"/ sfnfkfgL 5 kf}jf b]lv vf]sf vf]nf ;Dd ;*ssf] 
bfofF jfofF 50 ld ;Dd

600,000.00             

4 sfgk"/ sfnfkfgL 5 kf}jf b]lv vf]sf vf]nf ;Dd ;*ssf] 
bfofF jfofF 50 ld eGbf k%f*L 

360,000.00              
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5 sfgk"/ sfnfkfgL 5
vf]sf b]lv sflndfl^ ltdfn 
uf=kf=sf]] l;dfgf  ;Dd ;*ssf] 
bfofF jfofF 50 ld ;Dd

500,000.00             

6 sfgk"/ sfnfkfgL 5
vf]sf b]lv sflndfl^ ltdfn 
uf=kf=sf]] l;dfgf  ;Dd ;*ssf] 
bfofF jfofF 50 ld eGbf k%f*L 

300,000.00             

7 sfgk"/ sfnfkfgL 5 lj=kL= <fhdfu{ ;*ssf] bfofF jfofF 
50 ld ;Dd

1,600,000.00            

8 sfgk"/ sfnfkfgL 5 lj=kL= <fhdfu{ ;*ssf] bfofF jfofF 
50 ld eGbf k%f*L 

960,000.00             

9 sfgk"/ sfnfkfgL 5
sfgk"< ahf< b]lv *fF*fufpF lj=kL= 
<fhdfu{ hf]*\g] ;*ssf] bfofF jfofF 
50 ld ;Dd 

250,000.00             

10 sfgk"/ sfnfkfgL 5
sfgk"< ahf< b]lv *fF*fufpF lj=kL= 
<fhdfu{ hf]*\g] ;*ssf] bfofF jfofF 
50 ld eGbf k%f*L 

150,000.00             

11 sfgk"/ sfnfkfgL 5
;fljs j*f g_= 6 *fF*fufpFaf^ 
t'D;'Í s')* hfg]af^f]sf] bfofF jfofF 
50 ld ;Dd

100,000.00             

12 sfgk"/ sfnfkfgL 5
;fljs j*f g_= 6 *fF*fufpFaf^ 
t'D;'Í s')* hfg]af^f]sf] bfofF jfofF 
50 ld eGbf k%f*L 

60,000.00               

13 sfgk"/ sfnfkfgL 5
sfgk"< ahf< b]lv nf;sf]^ a];L 
la=kL= <fhdfu{ ;Dd ;*ssf] bfofF 
jfofF 50 ld ;Dd

300,000.00             

14 sfgk"/ sfnfkfgL 5
sfgk"< ahf< b]lv nf;sf]^ a];L 
la=kL= <fhdfu{ ;Dd ;*ssf] bfofF 
jfofF 50 ld eGbf k%f*L 

180,000.00             

15 sfgk"/ sfnfkfgL 5
nf;sf]^ ;fljs sfgk'< 2 uf]<]^f] 
af^f] ;Dd ;*ssf] bfofF jfofF 50 
ld ;Dd

100,000.00             

16 sfgk"/ sfnfkfgL 5
nf;sf]^ ;fljs sfgk'< 2 uf]<]^f] 
af^f] ;Dd ;*ssf] bfofF jfofF 50 
ld eGbf k%f*L 

60,000.00               

17 sfgk"/ sfnfkfgL 5
;fljs sfgk'< 2 sf] sflnsf ;*s 
tNnf] ^f]n ;Dd ;*ssf] bfofF jfofF 
50 ld ;Dd

300,000.00             

18 sfgk"/ sfnfkfgL 5
;fljs sfgk'< 2 sf] sflnsf ;*s 
tNnf] ^f]n ;Dd ;*ssf] bfofF jfofF 
50 ld eGbf k%f*L 

180,000.00             

19 sfgk"/ sfnfkfgL 5
;fljs sfgk"< 1 ahf<af^ y'Dsf 
hfg] af^f] sflnsf dlGb< ;Dd 
;*ssf] bfofF jfofF 50 ld ;Dd 

300,000.00             



gdf]j'4 gu/kflnsf 
 cfly{s P]g @)&% sf] bkmf @ jdf]lhd

cg';"rL – !
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20 sfgk"/ sfnfkfgL 5

;fljs sfgk"< 1 ahf<af^ y'Dsf 
hfg] af^f] sflnsf dlGb< ;Dd 
;*ssf] bfofF jfofF 50 ld eGbf 
k%f*L 

180,000.00             

21 sfgk"/ sfnfkfgL 5 kNnfaf<Laf^ j<sf] af]^ ;Dd 
;*ssf] bfofF jfofF 50 ld ;Dd

300,000.00             

22 sfgk"/ sfnfkfgL 5
kNnfaf<Laf^ j<sf] af]^ ;Dd 
;*ssf] bfofF jfofF 50 ld eGbf 
k%f*L 

180,000.00             

23 sfgk"/ sfnfkfgL 5 kf}jf b]lv bf<]uf}*f ;Dd ;*ssf] 
bfofF jfofF 50 ld ;Dd

250,000.00             

24 sfgk"/ sfnfkfgL 5 kf}jf b]lv bf<]uf}*f ;Dd ;*ssf] 
bfofF jfofF 50 ld eGbf k%f*L 

150,000.00             

25 sfgk"/ sfnfkfgL 5
:s"n *fF*faf^ ;'jf<Ff cfu]^f< 
kftnf ;Dd ;*ssf] bfofF jfofF 50 
ld ;Dd

250,000.00             

26 sfgk"/ sfnfkfgL 5
:s"n *fF*faf^ ;'jf<Ff cfu]^f< 
kftnf ;Dd ;*ssf] bfofF jfofF 50 
ld eGbf k%f*L 

150,000.00             

27 sfgk"/ sfnfkfgL 5
v<bf<kfl^ af^ et]<] e~Hofª x'Fb} 
uf]ug kfgL ;Dd ;*ssf] bfofF 
jfofF 50 ld ;Dd

100,000.00             

28 sfgk"/ sfnfkfgL 5
v<bf<kfl^ af^ et]<] e~Hofª x'Fb} 
uf]ug kfgL ;Dd ;*ssf] bfofF 
jfofF 50 ld eGbf k%f*L 

60,000.00               

29 sfgk"/ sfnfkfgL 5
kf}jfaf^ afFem#fF<L x'Fb} lj=kL 
<fhdfu{ ;Dd ;*ssf] bfofF jfofF 
50 ld ;Dd

150,000.00             

30 sfgk"/ sfnfkfgL 5
kf}jfaf^ afFem#fF<L x'Fb} lj=kL 
<fhdfu{ ;Dd ;*ssf] bfofF jfofF 
50 ld eGbf k%f*L 

90,000.00               

31 sfgk"/ sfnfkfgL 5 et]<] e~HofËaf^ k'<fgf kf]v<L ;Dd 
;*ssf] bfofF jfofF 50 ld ;Dd

150,000.00             

32 sfgk"/ sfnfkfgL 5
et]<] e~HofËaf^ k'<fgf kf]v<L ;Dd 
;*ssf] bfofF jfofF 50 ld eGbf 
k%f*L 

90,000.00               

33 sfgk"/ sfnfkfgL 5 sflnsf dlGb<af^ sfdL *fF*fF hfg] 
df]^<af^f]sf] bfofF jfofF 50 ld ;Dd

200,000.00             

34 sfgk"/ sfnfkfgL 5
sflnsf dlGb<af^ sfdL *fF*fF hfg] 
df]^<af^f]sf] bfofF jfofF 50 ld eGbf 
k%f*L 

100,000.00             
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35 sfgk"/ sfnfkfgL 5

sfgk"< 1, 2, 3, 8 < 9 sd]<] x'Fb] 
ltdfn uf=kf=sf] l;dfgf cfwfaf^f 
;Dd ;*ssf] bfofF jfofF 50 ld 
;Dd

300,000.00             

36 sfgk"/ sfnfkfgL 5

sfgk"< 1, 2, 3, 8 < 9 sd]<] x'Fb] 
ltdfn uf=kf=sf] l;dfgf cfwfaf^f 
;Dd ;*ssf] bfofF jfofF 50 ld 
eGbf k%f*L 

150,000.00             

37 sfgk"/ sfnfkfgL 5 ;ftd"naf^ af]xf]<] vf]nf ;Dd 
;*ssf] bfofF jfofF 50 ld ;Dd

250,000.00             

38 sfgk"/ sfnfkfgL 5
;ftd"naf^ af]xf]<] vf]nf ;Dd 
;*ssf] bfofF jfofF 50 ld eGbf 
k%f*L 

150,000.00             

39 sfgk"/ sfnfkfgL 5 sd]<]af^ e]*fFaf<L hfg] df]^<af^f]sf] 
bfofF jfofF 50 ld ;Dd

200,000.00             

40 sfgk"/ sfnfkfgL 5 sd]<]af^ e]*fFaf<L hfg] df]^<af^f]sf] 
bfofF jfofF 50 ld eGbf k%f*L 

120,000.00              

41 sfgk"/ sfnfkfgL 5 sf^ltdfnaf^ af]xf]<]bf]efg hfg] 
af^f]sf] bfofF jfofF 50 ld ;Dd

200,000.00             

42 sfgk"/ sfnfkfgL 5
sf^ltdfnaf^ af]xf]<]bf]efg hfg] 
af^f]sf] bfofF jfofF 50 ld eGbf 
k%f*L 

120,000.00              

43 sfgk"/ sfnfkfgL 5 df}n]rf}<af^ l;de~HofË hfg] 
;*ssf] bfofF jfofF 50 ld ;Dd

300,000.00             

44 sfgk"/ sfnfkfgL 5
df}n]rf}<af^ l;de~HofË hfg] 
;*ssf] bfofF jfofF 50 ld eGbf 
k%f*L 

180,000.00             

45 sfgk"/ sfnfkfgL 5 sf]^ltdfnaf^ e}F;]kfgL ;Dd 
;*ssf] bfofF jfofF 50 ld ;Dd

250,000.00             

46 sfgk"/ sfnfkfgL 5
sf]^ltdfnaf^ e}F;]kfgL ;Dd 
;*ssf] bfofF jfofF 50 ld eGbf 
k%f*L 

150,000.00             

47 sfgk"/ sfnfkfgL 5
;fO{{nf rf}tf<faf^ dfemFufpF b]p<fnL 
;Dd hfg] ;*ssf] bfofF jfofF 50 
ld ;Dd

150,000.00             

48 sfgk"/ sfnfkfgL 5
;fO{{nf rf}tf<faf^ dfemFufpF b]p<fnL 
;Dd hfg] ;*ssf] bfofF jfofF 50 
ld eGbf k%f*L 

90,000.00               

49 sfgk"/ sfnfkfgL 5 <Qmsfln :s"naf^ ;fp^f]n ;Dd 
;*ssf] bfofF jfofF 50 ld ;Dd

150,000.00             
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50 sfgk"/ sfnfkfgL 5
<Qmsfln :s"naf^ ;fp^f]n ;Dd 
;*ssf] bfofF jfofF 50 ld eGbf 
k%f*L 

90,000.00               

51 sfgk"/ sfnfkfgL 5 d]nrf}< b]lv b]jL:yfg ;Dd ;*ssf] 
bfofF jfofF 50 ld ;Dd

200,000.00             

52 sfgk"/ sfnfkfgL 5 d]nrf}< b]lv b]jL:yfg ;Dd ;*ssf] 
bfofF jfofF 50 ld eGbf k%f*L 

120,000.00              

53 sfgk"/ sfnfkfgL 5 sflndfl^ b]lv ^fj< ;Dd ;*ssf] 
bfofF jfofF 50 ld ;Dd

200,000.00             

54 sfgk"/ sfnfkfgL 5 sflndfl^ b]lv ^fj< ;Dd ;*ssf] 
bfofF jfofF 50 ld eGbf k%f*L 

150,000.00             

55 sfgk"/ sfnfkfgL 5
nf;sf]^ dfFem ufpFaf^ bfl;{Ë vf]nf 
x'Fb} lj=kL <fhdfu{ uf]<]^f]]af^f] ;Dd 
;*ssf] bfofF jfofF 50 ld ;Dd

100,000.00             

56 sfgk"/ sfnfkfgL 5

nf;sf]^ dfFem ufpFaf^ bfl;{Ë vf]nf 
x'Fb} lj=kL <fhdfu{ uf]<]^f]]af^f] ;Dd 
;*ssf] bfofF jfofF 50 ld eGbf 
k%f*L 

60,000.00               

57 sfgk"/ sfnfkfgL 5 nf;sf]^ u}<LufpF x'Fb} *fF*fufpF hfg] 
uf]<]^f]af^f]sf] bfofF jfofF 50 ld ;Dd

100,000.00             

58 sfgk"/ sfnfkfgL 5
nf;sf]^ u}<LufpF x'Fb} *fF*fufpF hfg] 
uf]<]^f]af^f]sf] bfofF jfofF 50 ld 
eGbf k%f*L 

60,000.00               

59 sfgk"/ sfnfkfgL 5 *fF*fufpF tLg ;Nn] hfg] 
uf]<]^f]af^f]sf] bfofF jfofF 50 ld ;Dd

75,000.00               

60 sfgk"/ sfnfkfgL 5
*fF*fufpF tLg ;Nn] hfg] 
uf]<]^f]af^f]sf] bfofF jfofF 50 ld 
eGbf k%f*L 

45,000.00              

61 sfgk"/ sfnfkfgL 5
&f]qm]*fF*faf^ uf}*f vf]]nf hfg] 
uf]<]^f]af^f] ;Dd ;*ssf] bfofF jfofF 
50 ld ;Dd

100,000.00             

62 sfgk"/ sfnfkfgL 5
&f]qm]*fF*faf^ uf}*f vf]]nf hfg] 
uf]<]^f]af^f] ;Dd ;*ssf] bfofF jfofF 
50 ld eGbf k%f*L 

50,000.00               

63 sfgk"/ sfnfkfgL 5
sd]<] lkknaf]^af^ wf<fkfgL vf]nf 
;Dd ;*ssf] bfofF jfofF 50 ld 
;Dd

100,000.00             
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64 sfgk"/ sfnfkfgL 5
sd]<] lkknaf]^af^ wf<fkfgL vf]nf 
;Dd ;*ssf] bfofF jfofF 50 ld 
eGbf k%f*L 

60,000.00               

65 sfgk"/ sfnfkfgL 5
af]xf]<] vf]nfaf^ l;Ë]^f< hfg] 
uf]<]^f]af^f] ;Dd ;*ssf] bfofF jfofF 
50 ld ;Dd

100,000.00             

66 sfgk"/ sfnfkfgL 5
af]xf]<] vf]nfaf^ l;Ë]^f< hfg] 
uf]<]^f]af^f] ;Dd ;*ssf] bfofF jfofF 
50 ld eGbf k%f*L 

60,000.00               

67 sfgk"/ sfnfkfgL 5
sf]n*fF*faf^ dfYnf]^f]n hfg]af^f] 
;Dd ;*ssf] bfofF jfofF 50 ld 
;Dd

200,000.00             

68 sfgk"/ sfnfkfgL 5
sf]n*fF*faf^ dfYnf]^f]n hfg]af^f] 
;Dd ;*ssf] bfofF jfofF 50 ld 
eGbf k%f*L 

120,000.00              

69 sfgk"/ sfnfkfgL 5
kf}*]nyf]s af^ hf]<;Nnf hfg] 
uf]<]^f]af^f] ;Dd ;*ssf] bfofF jfofF 
50 ld ;Dd

100,000.00             

70 sfgk"/ sfnfkfgL 5
kf}*]nyf]s af^ hf]<;Nnf hfg] 
uf]<]^f]af^f] ;Dd ;*ssf] bfofF jfofF 
50 ld eGbf k%f*L 

60,000.00               

71 sfgk"/ sfnfkfgL 5 uf}*f vf]Nfaf^ l;<fg^f]n 
hfg]af^f]sf] bfofF jfofF 50 ld ;Dd

100,000.00             

72 sfgk"/ sfnfkfgL 5
uf}*f vf]Nfaf^ l;<fg^f]n 
hfg]af^f]sf] bfofF jfofF 50 ld eGbf 
k%f*L 

60,000.00               

73 sfgk"/ sfnfkfgL 5
dfem^f]n rf}tf<f kw]F<f b]lv sd]<] 
hfg] uf]<]^f]af^fsf] bfofF jfofF 50 
ld ;Dd

100,000.00             

74 sfgk"/ sfnfkfgL 5
dfem^f]n rf}tf<f kw]F<f b]lv sd]<] 
hfg] uf]<]^f]af^fsf] bfofF jfofF 50 
ld eGbf k%f*L 

60,000.00               

75 sfgk"/ sfnfkfgL 5 vf]kLsf] kw]FF<faf^ blnt a:tL hfg] 
af^fsf] bfofF jfofF 50 ld ;Dd

200,000.00             

76 sfgk"/ sfnfkfgL 5
vf]kLsf] kw]FF<faf^ blnt a:tL hfg] 
af^fsf] bfofF jfofF 50 ld eGbf 
k%f*L 

120,000.00              

77 sfgk"/ sfnfkfgL 5 d]h< kfl^af^ aFb]n*fF*f hfg] 
df]^<af^f]sf] bfofF jfofF 50 ld ;Dd

300,000.00             
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78 sfgk"/ sfnfkfgL 5
d]h< kfl^af^ aFb]n*fF*f hfg] 
df]^<af^f]sf] bfofF jfofF 50 ld eGbf 
k%f*L 

180,000.00             

79 sfgk"/ sfnfkfgL 5
;fljs j*f g_= 2 ;ftbf]af^f]af^ 
dfYnf]^f]n hfg]af^f]sf] bfofF jfofF 
50 ld ;Dd

200,000.00             

80 sfgk"/ sfnfkfgL 5
;fljs j*f g_= 2 ;ftbf]af^f]af^ 
dfYnf]^f]n hfg]af^f]sf] bfofF jfofF 
50 ld eGbf k%f*L 

120,000.00              

81 sfgk"/ sfnfkfgL 5 tNnf]^f]n x'Fb} r'xfg] hfg]af^f]sf] 
bfofF jfofF 50 ld ;Dd

200,000.00             

82 sfgk"/ sfnfkfgL 5 tNnf]^f]n x'Fb} r'xfg] hfg]af^f]sf] 
bfofF jfofF 50 ld eGbf k%f*L 

120,000.00              

;fljs uf=lj=;= xfn gdf]a'4 g=kf= ljj/0f k|:tfljt k|lt /f]kgL

Zofkfl6 l;dnrf}/ 11 sfe|]e~GofË bfKrf ;*ssf] bfofF 
jfofF 50 ld= ;Dd

400,000.00             

Zofkfl6 l;dnrf}/ 11 sfe|]e~GofË bfKrf ;*ssf] bfofF 
jfofF 50 ld=eGbf k%f*L 

240,000.00             

Zofkfl6 l;dnrf}/ 11 sk<]('Ë tNnf] ^f]n ;*ssf] bfofF 
jfofF 50 ld= ;Dd

200,000.00             

Zofkfl6 l;dnrf}/ 11 sk<]('Ë tNnf] ^f]n ;*ssf] bfofF 
jfofF 50 ld= eGbf k%f*L 

120,000.00              

Zofkfl6 l;dnrf}/ 11 k<L ufpF yndn] ;*ssf] bfofF jfofF 
50 ld= ;Dd

200,000.00             

Zofkfl6 l;dnrf}/ 11 k<L ufpF yndn] ;*ssf] bfofF jfofF 
50 ld= eGbf k%f*L 

120,000.00              

Zofkfl6 l;dnrf}/ 11 sk<]('Ëf k<L ufpF sf]n*fF*f 
;*ssf] bfofF jfofF 50 ld= ;Dd

200,000.00             

Zofkfl6 l;dnrf}/ 11
sk<]('Ëf k<L ufpF sf]n*fF*f 
;*ssf] bfofF jfofF 50 ld= eGbf 
k%f*L 

120,000.00              

Zofkfl6 l;dnrf}/ 11 Zofdkfl^ s'?ufpF efn'vs{ ;*ssf] 
bfofF jfofF 50 ld= ;Dd

300,000.00             

Zofkfl6 l;dnrf}/ 11 Zofdkfl^ s'?ufpF efn'vs{ ;*ssf] 
bfofF jfofF 50 ld= eGbf k%f*L 

180,000.00             

Zofkfl6 l;dnrf}/ 11 l;dnaf]^ (f]*f<L hfg] ;*ssf] 
bfofF jfofF 50 ld= ;Dd

250,000.00             

Zofkfl6 l;dnrf}/ 11 l;dnaf]^ (f]*f<L hfg] ;*ssf] 
bfofF jfofF 50 ld= eGbf k%f*L 

150,000.00             

Zofkfl6 l;dnrf}/ 11 *fF*f s^]<L (f]*f<L ufpF ;*ssf] 
bfofF jfofF 50 ld= ;Dd

300,000.00             
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Zofkfl6 l;dnrf}/ 11 *fF*f s^]<L (f]*f<L ufpF ;*ssf] 
bfofF jfofF 50 ld= eGbf k%f*L 

180,000.00             

Zofkfl6 l;dnrf}/ 11 *fF*fs^]<L o]u]g*fF*Ff ;*ssf] bfofF 
jfofF 50 ld= ;Dd

200,000.00             

Zofkfl6 l;dnrf}/ 11 *fF*fs^]<L o]u]g*fF*Ff ;*ssf] bfofF 
jfofF 50 ld= eGbf k%f*L 

120,000.00              

Zofkfl6 l;dnrf}/ 11 *fF*fs^]<L df};d*fF*f ;*ssf] bfofF 
jfofF 50 ld= ;Dd

200,000.00             

Zofkfl6 l;dnrf}/ 11 *fF*fs^]<L df};d*fF*f ;*ssf] bfofF 
jfofF 50 ld= eGbf k%f*L 

120,000.00              

Zofkfl6 l;dnrf}/ 11 w'=g=kf= 12 x'Fb} *f*f s^]<L ;*ssf] 
bfofF jfofF 50 ld= ;Dd

300,000.00             

Zofkfl6 l;dnrf}/ 11 w'=g=kf= 12 x'Fb} *f*f s^]<L ;*ssf] 
bfofF jfofF 50 ld= eGbf k%f*L 

180,000.00             

Zofkfl6 l;dnrf}/ 11 s'?ufpF :jf<f ljld<] ;*ssf] bfofF 
jfofF 50 ld= ;Dd

300,000.00             

Zofkfl6 l;dnrf}/ 11 s'?ufpF :jf<f ljld<] ;*ssf] bfofF 
jfofF 50 ld=  eGbf k%f*L 

180,000.00             

Zofkfl6 l;dnrf}/ 11 :jfF<f x'Fb} ;fgf] :jfF<f ;*ssf] bfofF 
jfofF 50 ld= ;Dd

250,000.00             

Zofkfl6 l;dnrf}/ 11 :jfF<f x'Fb} ;fgf] :jfF<f ;*ssf] bfofF 
jfofF 50 ld=  eGbf k%f*L 

150,000.00             

Zofkfl6 l;dnrf}/ 11
yfk e~HofË gdf]a'$ x'Fb} w'=g=kf= 
12 ;Dd ;*ssf] bfofF jfofF 50 
ld= ;Dd

400,000.00             

Zofkfl6 l;dnrf}/ 11
yfk e~HofË gdf]a'$ x'Fb} w'=g=kf= 
12 ;Dd ;*ssf] bfofF jfofF 50 
ld=  eGbf k%f*L 

240,000.00             

Zofkfl6 l;dnrf}/ 11 lkknaf]^ lrGg] ufpF ;*ssf] bfofF 
jfofF 50 ld= ;Dd

250,000.00             

Zofkfl6 l;dnrf}/ 11 lkknaf]^ lrGg] ufpF ;*ssf] bfofF 
jfofF 50 ld=  eGbf k%f*L 

150,000.00             

Zofkfl6 l;dnrf}/ 11 PSn]v]t lrG*] efn'vs{ ;*ssf] 
bfofF jfofF 50 ld= ;Dd

350,000.00              

Zofkfl6 l;dnrf}/ 11 PSn]v]t lrG*] efn'vs{ ;*ssf] 
bfofF jfofF 50 ld=  eGbf k%f*L 

210,000.00              

Zofkfl6 l;dnrf}/ 11 efn'vs{ <f]zL^f<  ;*ssf] bfofF 
jfofF 50 ld= ;Dd

200,000.00             

Zofkfl6 l;dnrf}/ 11 efn'vs{ <f]zL^f<  ;*ssf] bfofF 
jfofF 50 ld=  eGbf k%f*L 

120,000.00              

Zofkfl6 l;dnrf}/ 11 :jfF<f *fF*f yfkf^f]n ;*ssf] bfofF 
jfofF 50 ld= ;Dd

200,000.00             



gdf]j'4 gu/kflnsf 
 cfly{s P]g @)&% sf] bkmf @ jdf]lhd

cg';"rL – !
PsLs[t ;DklQs/sf] b/ lgwf{/0f 

Zofkfl6 l;dnrf}/ 11 :jfF<f *fF*f yfkf^f]n ;*ssf] bfofF 
jfofF 50 ld=  eGbf k%f*L 

120,000.00              

Zofkfl6 l;dnrf}/ 11 dfg]*fF*f gdf]a'$ k|f=lj= ;*ssf] 
bfofF jfofF 50 ld= ;Dd

250,000.00             

Zofkfl6 l;dnrf}/ 11 dfg]*fF*f gdf]a'$ k|f=lj= ;*ssf] 
bfofF jfofF 50 ld=  eGbf k%f*L 

150,000.00             

pNn]lvt d'NofÍg 
eGbf afx]ssf 
hUufx?

gofF ^«ofs vf]lnPsf ;*s;Fu 
hf]l*Psf hUufx?

100,000.00             

 ;a}} 
j*fx
?sf]

180
pNn]lvt d'NofÍg 
eGbf afx]ssf 
hUufx?

af<L 50,000.00

179
pNn]lvt d'NofÍg 
eGbf afx]ssf 

hUufx?
v]t 75,000.00

182
pNn]lvt d'NofÍg 
eGbf afx]ssf 

hUufx?
cGo 30,000.00

181
pNn]lvt d'NofÍg 
eGbf afx]ssf 

hUufx?
v< kfvf/ vf< af<L 30,000.00



l; g+ k|lt PsfO{

2 dfnkf]t /lh:6]zg

2=1 dfnkf]t /lh:6]zg jfkt jflif{s k|ltzt 

cg';'rL @

k|:tfljt lqmofsnfkx?

gdf]j'4 gu/kflnsf

cfly{s P]g @)&% bkmf # jdf]lhd



tf]lsPsf] b/ 

cf=j= )&%÷&^

3.00       

cg';'rL @

gdf]j'4 gu/kflnsf

cfly{s P]g @)&% bkmf # jdf]lhd



l; g+ k|lt PsfO{ tf]lsPsf] b/ 

cf=j= )&%÷)&^

3

3=1 jflif{s k|ltzt   10 k|ltzt

cg';'rL #

k|:tfljt lqmofsnfkx?

gdf]j'4 gu/kflnsf

cfly{s P]g @)&% bkmf $ jdf]lhd

gu/kflnsf If]qleq s'g} JolQmn] 3/, k;n, uf]bfd, 

Uof/]]h, 6x/f, ;]8-5Kk/_, sf/vfgf, hUuf jf kf]v/L k'/}jf 

cf+l;s tj/n] axfndf lbPsf]df jflif{s axfn /sddf 

jxfn s/ 

jxfn s/ 

3/hUuf axfn s/



l; g+ k|lt PsfO{ tf]lsPsf] b/ 

cf=j= )&%÷&^

4

4=1

s r'/f]6 /S;L ;d]tsf] v'bf k;nx? jflif{s

?= !)),))) ;Dd k'FhL ePsf] 1,000.00

?= !)),))) b]lv #)),))) ;Dd k'FhL ePsf]

1,500.00

?= #)),))) b]lv %)),))) ;Dd k'FhL ePsf]

2,000.00

v r'/f]6 /S;L ;d]tsf] yf]s k;nx? jflif{s

?= %)),))) eGbf dfly k'FhL ePsf] 3,000.00

u ldgL dfs]{6 3,500.00

3 ;'k/ dfs]{6 5,000.00

ª Hj]n/L k;n jflif{s 5,000.00

r lel8of] Sof;]6 k;n -/]s8{/ ty Kn]o/_

? !,)),))).)) ;Dd k"hL ePsf] jflif{s 1,000.00

? @,)),))).)) ;Dd k"hL ePsf] jflif{s 2,000.00

? @,)),))).)) eGbf dfly k"hL ePsf] jflif{s 3,000.00

dlGb/ kl/;/df km'nkftL / cGo ;fdfg ljqmL jflif{s 300.00

5 lgdf{0f ;fdfu|L ljqm]tf tyf xf8{j]o/ k;n

? !,)),))).)) ;Dd k"hL ePsf] jflif{s 1,000.00    

? #,)),))).)) ;Dd k"hL ePsf] jflif{s 2,000.00    

? %,)),))).)) ;Dd k"hL ePsf] jflif{s 3,000.00    

? %,)),))).)) eGbf dfly @) nfv ;Dd k"hL 

ePsf]

jflif{s 10,000.00   

? @),)),))).)) eGbf dfly %) nfv ;Dd 

k"hL ePsf]

jflif{s 20,000.00   

? %),)),))).)) eGbf dfly k"hL ePsf] jflif{s 35,000.00   

h sDKo"6/, ljB't ;fdfg, Sofd]/f, 6]lnlehg dd{t, 

sfk]{6 k;n cflbdf 

? !,)),))).)) ;Dd k"hL ePsf] jflif{s 1,000.00    

? @,%),))).)) ;Dd k"hL ePsf] jflif{s 2,000.00    

? @,%),))).)) eGbf dfly k"hL ePsf] jflif{s 3,000.00    

em df]jfO{n,/]l8of] dd{t tyf ljqmL jflif{s 1,000.00    

` k]6«f]lnod kbfy{ yf]s -k]6f]n kDk_ jflif{s 20,000.00   

6 k]6«f]lnod kbfy{ v'b|f jflif{s 5,000.00    

7 b}lgs vfB ;fdfu|L v'b|f

? !,)),))).)) ;Dd k"hL ePsf] jflif{s 1,000.00    

cg';"rL $

cfly{s P]g @)&% bkmf % jdf]lhd

Jofj;fo Ohfht -btf{ gjLs/0f_ b:t'/sf] b/ 

k|:tfljt lqmofsnfkx?

Joj;fo s/ 

Jofkfl/s j:t'



l; g+ k|lt PsfO{ tf]lsPsf] b/ 

cf=j= )&%÷&^

cg';"rL $

cfly{s P]g @)&% bkmf % jdf]lhd

Jofj;fo Ohfht -btf{ gjLs/0f_ b:t'/sf] b/ 

k|:tfljt lqmofsnfkx?

? #,)),))).)) ;Dd k"hL ePsf] jflif{s 1,500.00    

? #,)),))).)) eGbf dfly k"hL ePsf] jflif{s 2,000.00    

? #,)),))).)) eGbf dfly % nfv;DDf k"hL 

ePsf]

jflif{s 3,500.00    

? %,)),))).)) eGbf dfly !) nfv;DDf k"hL 

ePsf]

jflif{s 5,000.00    

? !),)),))).)) eGbf dfly  k"hL ePsf] jflif{s 10,000.00   

8 sk8f tyf /]l8d]8 ;d]t -v'b|f / yf]s b'j}_

? !,)),))).)) ;Dd k"hL ePsf] jflif{s 1,000.00    

? #,)),))).)) ;Dd k"hL ePsf] jflif{s 1,500.00    

? #,)),))).)) eGbf dfly % nfv;DDf k"hL 

ePsf]

jflif{s 2,500.00    

? %,)),))).)) eGbf dfly !) nfv;DDf k"hL 

ePsf]

jflif{s 5,000.00    

? !),)),))).)) eGbf dfly  k"hL ePsf] jflif{s 10,000.00   

9 ;jf/L ;fwfg ljqm]tf

;fO{sn jflif{s 2,000.00    

df]6/ ;fO{sn jflif{s 10,000.00   

6«ofS6/ ;j} vfn] jflif{s 20,000.00   

lhk, sf/ j; / 6«s jflif{s 50,000.00   

4=2

s :jLs[t lrlsT;s jflif{s 3,000.00    

v slj/fh jflif{s 1,000.00    

u O{lGhlgo/ sfplG;ndf btf{ ePsf] O{lGhlgo/nfO{  

 b:t'/

jflif{s 5,000.00    

3 sfg'g Joj;foL jflif{s 5,000.00    

ª n]vf k/LIfs jflif{s 5,000.00    

r bGt lrlsT;s jflif{s 2,500.00    

5 cg';Gwfgstf{ / k/fdz{bftf jflif{s 2,500.00    

h cf]e/l;o/ jflif{s 3,000.00    

em jLdf Ph]G6 jflif{s 3,000.00    

` ;e]{o/ jflif{s 3,000.00    

6 cg'jfbs jflif{s 2,000.00    

7 kz' lrlsT;s jflif{s 3,000.00    

8 z]o/ bnfn jflif{s 2,000.00    

9 ;fdfg 9'jfgLstf{ tyf sDkgL jflif{s 2,000.00    

0f ;+:yfut k]G6/ jflif{s 1,000.00    

t ejg 3/ lgdf{0f ug]{ JolQm -7]s]bf/_ JolQm 5,000.00    

y hUuf KnflgË, Knl6Ë -k|lt cfgf_ cfgf 1,000.00    

4=3

ljz]if1 k/fdz{ tyf cGo Joj;flos k]zfdf

lgdf{0f Joj;fo -g kf If]qleq 7]ufgf ePsf_



l; g+ k|lt PsfO{ tf]lsPsf] b/ 

cf=j= )&%÷&^

cg';"rL $

cfly{s P]g @)&% bkmf % jdf]lhd

Jofj;fo Ohfht -btf{ gjLs/0f_ b:t'/sf] b/ 

k|:tfljt lqmofsnfkx?

s s ju{ jflif{s 20,000.00   

v v ju{ jflif{s 15,000.00   

u u ju{ jflif{s 10,000.00   

3 3 ju{ jflif{s 5,000.00    

ª gjLs/0f b:t'/ jflif{s 3,000.00    

r gjLs/0f yk b:t'/ jflif{s 2,000.00    

5 Ohfhtkq k|ltlnkL b:t'/ jflif{s 1,000.00    

4=4

s % c:j zlQm ;Dd Ifdtf ePsf] jflif{s 2,000.00    

v & c:j zlQm ;Dd Ifdtf ePsf] jflif{s 2,500.00    

u !) c:j zlQm ;Dd Ifdtf ePsf] jflif{s 3,000.00    

3 !% c:j zlQm ;Dd Ifdtf ePsf] jflif{s 4,000.00   

ª !% c:j zlQm eGbf dfly Ifdtf ePsf] jflif{s 5,000.00    

4=4

s uf]j/UofF; pBf]u jflif{s 2,000.00    

v ;f]nf/ jflif{s 2,000.00    

u cGo phf{d"ns pBf]u jflif{s 2,000.00    

4=4

s s'v'/f kfng pBf]u

1 !))) ;Dd rNnf /fVg] jflif{s 1,500.00    

2 !))) b]lv #))) ;Dd rNnf /fVg] jflif{s 3,500.00    

3 #))) b]lv %))) ;Dd rNnf /fVg] jflif{s 5,000.00    

4 %))) eGbf dfly rNnf /fVg] jflif{s 10,000.00   

5 x\ofr/L ;d]t ePsf] kf]N6«L kmd{ 10,000.00   

v kmlg{r/ pBf]u

;–ldn jflif{s 5,000.00    

;–ldn 6«nL ;lxtsf] jflif{s 15,000.00   

;–ldn gePsf] ;fgf] kmlg{r/ jflif{s 2,000.00    

u s'6fgL, lk;fgL / k]nfgL ldn Pp6f d]lzg jflif{s 1,500.00    

k|lt yk Ps d]lzgdf jflif{s 1,000.00    

3 kz'kfng -cGo_ jflif{s 2,000.00    

ª j+u'/kfng jflif{s 2,500.00    

r ufO{÷e};L kfng jflif{s 2,000.00    

5 afv|fkfng jflif{s 1,500.00    

h s[lif kmd{ -cuf{lgs tyf v]tLkftL_ jflif{s 3,000.00    

em s[lif kmd{ -v]tLkftL, kz'kfng nufot ld>Lt_ jflif{s 5,000.00    

4=4

s

1 æsÆ ju{sf] xf]6]n / l/;f]6{sf] nflu jflif{s 20,000.00   

2 ævÆ ju{sf] xf]6]n / l/;f]6{sf] nflu jflif{s 10,000.00   

lj kL  /fhdfu{sf] cf;kf;df /x]sf]

pTkfbgd"ns pBf]u 

phf{d"ns pBf]u

s[lif tyf jGo pBf]u

ko{6g pBf]u



l; g+ k|lt PsfO{ tf]lsPsf] b/ 

cf=j= )&%÷&^

cg';"rL $

cfly{s P]g @)&% bkmf % jdf]lhd

Jofj;fo Ohfht -btf{ gjLs/0f_ b:t'/sf] b/ 

k|:tfljt lqmofsnfkx?

3 æuÆ ju{sf] xf]6]n / l/;f]6{sf] nflu jflif{s 5,000.00    

v

1 æsÆ ju{sf] xf]6]n / l/;f]6{sf] nflu jflif{s 10,000.00   

2 ævÆ ju{sf] xf]6]n / l/;f]6{sf] nflu jflif{s 5,000.00    

3 æuÆ ju{sf] xf]6]n / l/;f]6{sf] nflu jflif{s 3,000.00    

4 gdf]j'4 dlGb/ If]qsf] ;'ljwf;DkGg xf]6n l/;f]6{ jflif{s 60,000.00   

u

1 /]i6'/fF jflif{s 2,500.00    

2 /]i6'/]G6 P08 af/ jflif{s 3,500.00    

3 kmf:6km'8, efG5f 3/ jflif{s 2,500.00    

4 nh dfq ePsf] jflif{s 2,500.00    

5 ef]hgfno jflif{s 2,500.00    

6 nh tyf ef]hgfno jflif{s 4,000.00   

7 ld7fO{ k;n jflif{s 1,500.00    

8 lrof rd]gf k;n jflif{s 1,000.00    

4=5

1 5fkfvfgf jflif{s 5,000.00    

2 kmf]6f]u|fkmL

s kmf]6f]u|fkmL dfq ePsf] jflif{s 1,500.00    

v sn/Nofj ;d]t ePsf] jflif{s 3,000.00    

3 rnlrq Joj;fo jflif{s 5,000.00    

4 ;fj{hlgs kl/jxg Joj;fo jflif{s 5,000.00    

5 k|of]uzfnf jflif{s 2,000.00    

6 lzt e08f/ jflif{s 10,000.00   

7 8]/L pBf]u jflif{s 10,000.00   

b'Uw 8]/L पसल jflif{s 3,000.00    

8 b'w ;+sng s]Gb| jflif{s 1,500.00    

9 b'Uw lr:ofg jflif{s 5,000.00    

10 b'w ;+sng tyf Kofs]lhË jflif{s 10,000.00   

11 sjf8L ;+sng s]Gb| jflif{s 5,000.00    

12 j]lN8ª js{;k -u|Ln tyf ;6{/_ jflif{s 2,500.00    

13 O{lGhlgol/ª js{;k jflif{s 5,000.00    

14 j8L ljN8/ pBf]u jflif{s 10,000.00   

15 Xof08Lqmfˆ6 

s ?= ! nfv ;Dd k'FhL ePsf] jflif{s 1,000.00    

v ?= @ nfv ;Dd k'FhL ePsf] jflif{s 2,000.00    

u ?= # nfv ;Dd k'FhL ePsf] jflif{s 3,000.00    

# ?= % nfv ;Dd k'FhL ePsf] jflif{s 5,000.00    

ª ?= % nfv eGbf dfly k'FhL ePsf] jflif{s 8,000.00   

lj kL /fhdfu{sf] cf;kf; jflx/ /x]sf]

;fgf ko{6g Joj;fo

;]jf pBf]u



l; g+ k|lt PsfO{ tf]lsPsf] b/ 

cf=j= )&%÷&^

cg';"rL $

cfly{s P]g @)&% bkmf % jdf]lhd

Jofj;fo Ohfht -btf{ gjLs/0f_ b:t'/sf] b/ 

k|:tfljt lqmofsnfkx?

16 cGo ;]jfx? jflif{s 1,000.00    

4=6

1 ;8s, k"n, /f]kj], /]nj], 6«lnj;, 6g]n, ˆnfOª 

j[h lgdf{0f ul/ ;~rfng ug]{ pBf]u Joj;fo

jflif{s 10,000.00   

2 cf}Bf]lus, Jofkfl/s Pj cfjf; sDKn]S; lgdf{0f 

ul/ ;~rfng ug]{ pBf]u Joj;fo

jflif{s 10,000.00   

5 ;j} k|sf/sf] vlgh pBf]u -/f]8f, 9'+uf, jfn'jf 

cfbL_

jflif{s 150,000.00  

6 s|;/ pBf]u jflif{s 150,000.00  

7 ;j} k|sf/sf] vlgh pBf]u -/f]8f, 9'+uf o'Qm s|;/ 

;lxt_

jflif{s 250,000.00  

8 cGo 7'nf pBf]u tyf snsf/vfg -krf; nfv 

eGbf dfly_

jflif{s 30,000.00   

4=7

1 lghL If]qsf x'nfs ;]jf jflif{s 1,000.00    

2 6]lnkmf]g, ˆofS;, O{d]n, O{G6/g]6 jflif{s 1,000.00    

3 P;= l6= l8 / cfO{= P; l8= jflif{s 1,000.00    

4 kmf]6f]skL jflif{s 1,000.00    

5 s'l/o/ ;]jf jflif{s 1,500.00    

6 5kfO{ tyf k|sfzg jflif{s 1,500.00    

7 cGo ;~rf/sf gofF dfWodx? jflif{s 1,500.00    

4=8

1 g]kfn ;/sf/sf k"0f{ :jldTjdf /x]sf jfx]ssf 

cfly{s sf/f]jf/ ug]{ jfFl0fHo j}sx?

jflif{s 10,000.00   

2 cfly{s sf/f]jf/ ;d]t ug]{ ljQLo sDkgLsf d'Vo 

sfof{no

jflif{s 7,000.00    

3 ljQLo sDkgLsf zfvf sfof{no jflif{s 5,000.00    

4 jLdf sDkgL jflif{s 6,000.00    

5 ;xsf/L j}+s jflif{s 7,000.00    

6 jx'pb]]lzo ;xsf/L ;+:yf jflif{s 5,000.00    

7 jrt tyf C0f ;xsf/L ;+:yfx? jflif{s 2,000.00    

4=9

1 u}/;/sf/L c:ktfn÷kf]lnlSnlgs jflif{s 5,000.00    

2 gl;{Ë xf]d jflif{s 7,000.00    

3 lSnlgs / Nofj jflif{s 3,000.00    

4 kmfd]{;L dfq jflif{s 2,000.00    

5 cfo'j]{b k;n jflif{s 2,000.00    

4=10

1 gLlh If]qsf :s'n

lgdf{0f pBf]u

;~rf/ ;]jf

ljlQo ;]jf

:jf:Yo ;]jf

lzIff ;]jf



l; g+ k|lt PsfO{ tf]lsPsf] b/ 

cf=j= )&%÷&^

cg';"rL $

cfly{s P]g @)&% bkmf % jdf]lhd

Jofj;fo Ohfht -btf{ gjLs/0f_ b:t'/sf] b/ 

k|:tfljt lqmofsnfkx?

s k|f lj / lg df lj tx;Dd jflif{s 8,000.00   

v dfWolds tx;Dd jflif{s 12,000.00   

2 gLlh If]qsf SofDk; / ljZjljBfno jflif{s 20,000.00   

3 tflnd s]Gb| jflif{s 5,000.00    

cg';Gwfg s]Gb| jflif{s 3,500.00    

tflnd tyf cg';Gwfg s]Gb| jflif{s 7,000.00    

4 6fO{lkË, sDKo"6/, OlGi6Ro'6 tyf efiff lzIf0f jflif{s 2,500.00    

5 cGt/f{li6«o u};; jflif{s 5,000.00    

6 /fli6«o u};;

s /fli6«o :t/Lo jflif{s 2,500.00    

v lhNnf :t/Lo jflif{s 2,000.00    

u gu/ :t/Lo jflif{s 1,500.00    

4=11

1 x]eL OlSjkd]G6 a;, 6«s, sf/, dd{t js{;k jflif{s 5,000.00    

2 df]6/;fO{sn / ;fO{sn dd{t js{;k jflif{s 2,500.00    

3 /]l8of], l6le, 38L, k|];/ s's/ lx6/, 6]lnkmf]g ;]6 

cflb dd{t 

jflif{s 1,500.00    

4 n]y d]l;g ;lxtsf] js{zk jflif{s 5,000.00    

5 uf8L tyf afOs jfl;Ë ;]G6/ jflif{s 3,000.00    

4=12

1 lj1fkg ;]jf jflif{s 1,000.00    

2 j}b]lzs /f]huf/ ;]jf jflif{s 2,000.00    

3 :jb]zL /f]huf/ ;]jf jflif{s 1,500.00    

4 ;]qm]6l/on ;]jf jflif{s 1,500.00    

5 xfplhË sDkgL tyf 3/ hUuf v/Lb laqmL -

l/on :6]6_

jflif{s 10,000.00   

6 Jo'6L kfn{/, s]z >[+uf/, 8«fO{ lSng;{, jflif{s 1,000.00    

7 x]o/ sl6Ë tyf ;}n'g jflif{s 2,000.00    

8 l;nfO{ jflif{s 1,000.00    

9 ;fO{gaf]8{ agfpg] k]lG6Ë ;]jf jflif{s 1,000.00    

10 ;'g k;n jflif{s 3,500.00    

11 rfFbL k;n jflif{s 1,000.00    

12 ;'g / rfFbL b'a} ePsf] k;n jflif{s 5,000.00    

13 kz' jwzfnf jflif{s 3,000.00    

14 df;' jf df5f ljqm]tf jflif{s 1,500.00    

15 km"n / lj?jf ljqm]tf jflif{s 1,000.00    

16 :gf]s/ tyf k'n xfp; jflif{s 4,000.00   

17 :gf]s/ xfp; 3,000.00    

18 lhd xfp; 3,500.00    

dd{t ;Def/ ;]jf

cGo ;]jf



l; g+ k|lt PsfO{ tf]lsPsf] b/ 

cf=j= )&%÷&^

cg';"rL $

cfly{s P]g @)&% bkmf % jdf]lhd

Jofj;fo Ohfht -btf{ gjLs/0f_ b:t'/sf] b/ 

k|:tfljt lqmofsnfkx?

19 :6]:g/L ;]G6/ jflif{s 1,500.00    

20 vf]6f] Joj;foL jflif{s 1,500.00    

21 l;;f KnfO{p8 ljqm]tf jflif{s 2,000.00    

22 efF8fs'F8f ljqm]tf

? % nfv;Dd k"hL nufgL ePsf] jflif{s 1,500.00    

? % nfv eGbf dfly k"hL nufgL ePsf] jflif{s 5,000.00    

23 :6Ln, sf7 / kmlg{r/ ljqm]tf jflif{s 2,000.00    

24 v]nf}gf, pkxf/ ljqm]tf jflif{s 1,000.00    

25 e]6l/g/L k;n jflif{s 3,000.00    

26 s[lif dn ljp ljhg k;n jflif{s 3,000.00    

27 s[lif dn ljp ljhg k;n ls6gf;s cf}ifwL ;d]t jflif{s 4,000.00   

28 l8;xf]; ljqm]tf jflif{s 2,500.00    

29 s]j'n, g]6jls{Ë jflif{s   10,000.00 

4=4

1  lkslgs :k6 jflif{s    5,000.00 

2 Sofl;gf] jflif{s   50,000.00 

3 6'/ ck/]6/ jflif{s    3,000.00 

4 d;fh kfn{/ jflif{s    2,000.00 

5 kfs{ pBfg jflif{s    2,000.00 

4=4

1 3'DtL -df]jfO{n_ k;n, v'Grf ;d]t k6s]      25.00 

2 rf}kfof k6s]      25.00 

3 xFf; s'v'/f cflb k6s]      10.00 

4 ;fu ;AhL / kmnk"mn k;n k6s]      10.00 

5 cGo k6s]      15.00 

6 dfly pNn]v ePsf eGbf jfx]ssf] Joj;fox? -

s'n k"hL nufgLsf] cfwf/df_

s ? @),))).)) ;Dd k"hL ePsf] jflif{s    1,000.00 

v ? !,)),))).)) ;Dd k"hL ePsf] jflif{s    1,500.00 

u ? @,%),))).)) ;Dd k"hL ePsf] jflif{s    2,500.00 

3 ? %,)),))).)) ;Dd k"hL ePsf] jflif{s    3,500.00 

ª ? %,)),))).)) eGbf dfly k"hL ePsf] jflif{s    5,000.00 

c:yfoL xf6jhf/ jf 3'lDt k;n

cGo Joj;fo



l; g+ tf]lsPsf] b/ 

cf=j= 

)&%÷&^

s}lkmot

4

cg';"rL $=!

cfly{s P]g @)&% bkmf % jdf]lhd

Jofj;fo s/sf] b/ 

Joj;fosf] lsl;d

Joj;fo s/ 



l; g+ k|lt PsfO{ tf]lsPsf] b/ 

cf=j= )&%÷&^

5

5=1 k|lt l;kmfl/; ?=2000.00

5=2 k|ltzt 1.00      

5=3 k|ltzt 1.00      

gdf]j'4 gu/kflnsf

cfly{s P]g @)&% bkmf ^ jdf]lhd

af]lwlrQsf] ?v l;kmfl/; jfkt k|lt l;kmfl/; z'Ns 

vf]6f],hl8j'6L,jgs;,sjf8Ldfn sf/f]jf/ u/]jfkt k|lt 

?=!))) df

k|rlnt sfg'gn] lgi]fw u/] bvL jfx]s cGo d[t 

hLjhGt'sf] xf8,l;ª,Kjfv, 5fnfdf k|lt sf/f]jf/ ?=!))) 

jgs; h8Lj'6L 

cg';'rL %

k|:tfljt lqmofsnfkx?



l; g+
jflif{s s/sf] b/ 

s}lkmot

6 /sd ?

6=1 1 6fFuf %)).))

6=2 2 l/S;f %)).))

6=3 3 c6f]l/S;f !))).))

6=4 4 ljB'tLo l/S;f tyf ljB'tLo :s'6/ %)).))

;jf/L btf{ tyf jflif{s ;jf/L s/

cg';'rL ^
;jf/L ;fwgsf] lsl;d

gdf]j'4 gu/kflnsf

cfly{s P]g @)&% bkmf & jdf]lhd



l; g+ k|lt PsfO{ tf]lsPsf] b/ 

cf=j= )&%÷&^

7

7=1 1 h'g;'s} :yfgdf Joj;fo /fvL g= kf= If]qdf 

lj1fkg Jofg/, ˆnfS; tyf c:yfoL 

;fdfgsf] k|of]u k|lt ju{ lkm6

"

20.00     

7=2 2 h'g;'s} :yfgdf Joj;fo /fvL g=kf= If]qdf 

kl/ro kf6L /fv]sf] k|lt ju{ lkm6
"

15.00      

7=3 3 h'g;'s} :yfgdf Joj;fo /fvL g=kf= If]qdf 

lj1fkg Jofg/, ˆnfS; tyf c:yfoL ;fdfg 

@ ld6/ eGbf j9Lsf] k|of]u k|lt ju{ lkm6

"

10.00     

lj1fkg tyf kl/ro kf6L -gu/kflnsfn] lgif]w gu/]sf] If]qdf_

cg';'rL &

k|:tfljt lqmofsnfkx?

gdf]j'4 gu/kflnsf

cfly{s P]g @)&% bkmf * jdf]lhd



l; g+ k|:tfljt lqmofsnfkx? k|lt PsfO{ tf]lsPsf] b/ 

8 dgf]/+hg s/ 

8=1 ;s{; hfb' b]vfPjfkt k|lt lbgsf] 

8=2 Joj;flos le*Lof] s/

8=3 /ofkml^ª k|lt uf]6f

8=4 lyP^/ ;+uLt xn

8=5 ;f:slts k|b{zg xn

8=6 l;g]df xn ;+rfng jflif{s

cg';'rL *

gdf]j'4 gu/kflnsf

cfly{s P]g @)&% bkmf ( jdf]lhd

 ;+#Lo / 

k|b]z sfg'g 

cg";f/ 



l; g+ k|lt PsfO{ tf]lsPsf] b/ 

cf=j= )&%÷&^

9 jxfn lj^f}/L z'Ns

9=1 ju{ lkm6 

k|ltzt 

5.00      

9=2 k|lt /f]kgL 1,000.00   

9=3 k|lt /f]kgL 500.00    

gdf]j'4 gu/kflnsf

cfly{s P]g @)&% bkmf !) jdf]lhd

 P]nfgL hUuf jf jf6f]sf] 5]pdf v]tLkftL u/] jfkt 

v]tsf] jflif{s 

 P]nfgL hUuf jf jf6f]sf] 5]pdf v]tLkftL u/] jfkt 

jf/Lsf] jflif{s 

gu/ If]qleqsf ;fj{hlgs :yn, P]nfgL hUuf jf 

jf6f]sf] 5]pdf c:yfoL Joj;fo ug{ lbPjfkt dfl;s 

lj6f}/L s/

cg';'rL (

k|:tfljt lqmofsnfkx?



l; g+ k|lt PsfO{ tf]lsPsf] b/ 

cf=j= )&%÷&^

10 kfls{ª z'Ns 

10=1 j; l^Kk/ sf/ Eofg k|lt 3G6f 20.00     

10=2 df]^/;fOsn k|lt 3G6f 10.00     

cg';'rL !)

k|:tfljt lqmofsnfkx?

gdf]j'4 gu/kflnsf

cfly{s P]g @)&% bkmf !! jdf]lhd



l; g+ k|lt PsfO{ tf]lsPsf] b/ 

cf=j= )&%÷&^

11 ^«]lsª  jGhL hDkLª cflb z'Ns

11=1 ^«]lsª df hfg]sf] nflu  10 lbg ;Ddsf] 2,000.00   

11=2  jGhL hDkLªsf nflu k|lt hgf 10.00     

cg';'rL !!

k|:tfljt lqmofsnfkx?

gdf]j'4 gu/kflnsf

cfly{s P]g @)&% bkmf !@ jdf]lhd



l; g+ k|lt PsfO{ tf]lsPsf] b/ 

cf=j= )&%÷&^

12

12=1

12=1=1

1 lbzf k6s] 10.00     

2 lk;fj " 5.00      

3 :gfg " 30.00      

12=1=2

1

s æsÆ ju{sf] nflu dfl;s 700.00    

v ævÆ ju{sf] nflu " 500.00    

u æuÆ ju{sf] nflu " 350.00     

3 ;fgf xf]6]n /]i6'/fF / u]i6xfp; vfgf ;lxt " 200.00     

ª ;fgf hnkfgu[x, vfhf3/ " 100.00     

r vfhf3/ dlb/f ;lxt ePdf yk " 150.00     

5 ls/fgf k;n 100.00     

h t/sf/L tyf kmnkm'n k;n 150.00     

em ls/fgf k;n, t/sf/L tyf kmnkm'n k;n " 200.00     

2

s d'Vo jhf/ s]Gb|df cjl:yt " 1,500.00   

v ;f] jfx]sf] :yfgdf cjl:yt " 800.00    

3

s ljZjljBfno " 1,500.00   

v SofDk; " 500.00    

u dflj÷pRr dflj " 200.00     

3 cGo lghL ljBfnosf] nflu " 150.00     

4 cGo If]qx?
s ;/sf/L tyf u}/;/sf/L sfof{nox? " 200.00     

v cGo 3/ tyf uf]bfdx? " 300.00     

u k;n tyf pBf]u " 200.00     

# O{n]lS6«sn k;n " 100.00     

ª 5fkfvfgf " 100.00     

r ;~rf/ ;DjlGw Joj;fo " 100.00     

% Jo"l6 kfn{/ / ;}n'g " 100.00     

h kmf]6f] :6'l8of] " 100.00     

em xf8{j]o/ k;n " 100.00     

` lsr]g ;fdfu|L ljqm]tf -efF8fs'F8f_ " 100.00     

^ kmlg{r/ ljqm]tf " 100.00     

gdf]a'4 gu/kflnsf

cfly{s P]g @)&% bkmf !@ jdf]lhd

;]jf z'Ns b:t'/
;fj{hlgs ;'ljwf pkof]u ;]jf z'Ns
;f}rfno k|of]u z'Ns 

;/;kmfO{ tyf kmf]x/d}nf Joj:yfkg z'Ns

cg';'rL !@

k|:tfljt lqmofsnfkx?

xf]6]n Joj;fo 

c:ktfn / gl;{Ë xf]d

lzIf0f ;+:yf



l; g+ k|lt PsfO{ tf]lsPsf] b/ 

cf=j= )&%÷&^

gdf]a'4 gu/kflnsf

cfly{s P]g @)&% bkmf !@ jdf]lhd

cg';'rL !@

k|:tfljt lqmofsnfkx?

& sfi7 pBf]u " 150.00     

* s'6gL, lk;gL / k]nfgL ldn " 100.00     

( /]l8d]8 sk8f k;n " 100.00     

)f :6]zg/L k;n -d;nGb_ " 100.00     

t h'Qf rKkn k;n " 100.00     

y h'Qf l;nfpFg] k;n " 100.00     

b 5fqjf; " 200.00     

w awzfnf ;lxtsf] df;' k;n " 400.00    

g df5f÷df;' k;n " 250.00     

Sof6l/Ë jflif{s 2,000.00   

kfl6{ Kofn]; jflif{s 3,000.00   

k df]6/;fO{sn÷;fO{sn js{;k dfl;s 200.00     

km kf]N6«L kmd{

j:tL glhs !)) ld6/ leq " 500.00    

j:tL glhs !)) ld6/ jflx/ " 350.00     

j 6]nl/Ë " 100.00     

e cf}ifwL k;n " 200.00     

d ;[ª\uf/ ÷r'/f k;n " 100.00     

o 9'Ëf÷lu6L÷afn'jf nufotsf vfgL " 300.00     

/ lghL cfjf; " 50.00     

n cGo Joj;fo " 100.00     

"

12=1=3

1 ;fj{hlgs ;8s jQL ;]jf z'Ns jflif{s 50.00     

2 ljkb\ Joj:yfkg ;]jf z'Ns " 25.00     

3 l8lh6 gfkL ;]jf z'Ns "

zx/L If]q k|lt lsQf " 100.00     

u|fld0f If]q k|lt lsQf " 25.00     

4 ljB't 6]nLkmf]g kf]n z'Ns
l;d]G6sf] kf]n " 1,200.00   

sf7sf] kf]n " 1,500.00   

kmnfdsf] kf]n " 1,500.00   

5 ljB't 6|fG;km/d/ z'Ns
l;d]G6sf] kf]n " 1,500.00   

sf7sf] kf]n " 2,000.00   

kmnfdsf] kf]n " 2,000.00   

cGo ;'ljwf z'Nsx?

pNn]lvt eGbf afx]ssf joj;fox?sf] kmf]xf]/sf] k|s[lt 

x]/]/ ?= 100 b]lv 500 ;Dd lnOg]% .



l; g+ k|lt PsfO{ tf]lsPsf] b/ 

cf=j= )&%÷&^

gdf]a'4 gu/kflnsf

cfly{s P]g @)&% bkmf !@ jdf]lhd

cg';'rL !@

k|:tfljt lqmofsnfkx?

6 6]nLkmf]g kf]n z'Ns
l;d]G6sf] kf]n " 1,200.00   

sf7sf] kf]n " 1,500.00   

kmnfdsf] kf]n " 1,500.00   

5 df]jfO{n 6fj/ " 12,000.00   

6 Pkm Pd ÷ ;~rf/ 6fj/ " 6,000.00   

7 6]lnlehg 6fj/ " 12,000.00   

hDdf
12=1=4

1 ? ! nfv b]lv !) nfv;Dd 200.00     

2 ? !) nfv ! b]lv @) nfv;Dd 400.00    

3 ? @) nfv ! b]lv #) nfv;Dd 1,500.00   

4 ? #) nfv ! b]lv %) nfv;Dd 3,000.00   

5 ? %) nfv ! b]lv ! s/f]8;Dd 7,000.00   

6 ? ! s/f]8 ! b]lv % s/f]8;Dd 10,000.00  

7 ? % s/f]8 ! eGbf dfly प्रति करोड    1,000.00 

12=1=5

1

k|df0fkq b:t'/ -#^ lbg b]lv ! jif{ ;Dd_ k6s 100.00     

! jif{ gf3]df hl/jfgf " 25.00     

k|df0fkqsf] k|ltlnkL " 50.00     

12=1=6

1 ;'lv{r'gf hf]8fO{ k6s 2,000.00   

2 df6f] hf]8fO{ sRrL 3/ " 500.00    

3 ;fljs adf]lhd ejg tyf 3/ dd{t :jLs[lt " 500.00    

4 c:yfoL 6x/f ;fwf/0f k|lt ju{ lkm6 2.00      

5 c:yfoL 6x/f xf]6]n pBf]u cflb " 5.00      

6 df6f] hf]8fO{ kSsL 3/ " 2.00      

7 l;d]G6 hf]8fO{sf] kSsL 3/ e"O{ tnf " 5.00      

8 l;d]G6 hf]8fO{sf] kSsL 3/ klxnf] tnf b]lv 

dfly

" 8.00      

9 ;6/ ePsf] 3/ " 8.00      

10 xf]6]n Joj;fo / ;lkË sDKn]S;sf] nflu " 10.00     

11 lgdf{0f eO{;s]sf] 3/sf] kl5 gS;f kf; ubf{ 

dfkb08leq /x]5 eg] lgoldt b:t'/sf] cnjf 

yk

" 5.00      

crn ;DklQ d'Nof+sg ;]jf z'Ns

btf{ / gljs/0f b:t'/

JolQmut 36\gf btf{ 

gS;f kf; b:t'/ -gofF tyf k'/fgf]_



l; g+ k|lt PsfO{ tf]lsPsf] b/ 

cf=j= )&%÷&^

gdf]a'4 gu/kflnsf

cfly{s P]g @)&% bkmf !@ jdf]lhd

cg';'rL !@

k|:tfljt lqmofsnfkx?

12 sDkfp08 jfn l;d]G6 hf]8fO{ " 2.00      

13 sDkfp08 jfn df6f] hf]8fO{ " 1.00      

14 g kf x'g' cufj} lgdf{0f ePsf] 3/df tNnf yk 

ubf{ klxnf] lgdf{0f eP hlt 3/sf] xsdf 

k|dfl0ft b:t'/ 

" 3.00      

15 gS;f gfd;f/L b:t'/ " 5.00      

16 3/ lgdf{0f ;/;kmfO{ w/f}6L " 5,000.00   

17 cflz+s lgdf{0f ;DkGg b:t'/ k6s 1,000.00   

18 lgdf{0f ;DkGg b:t'/ 1,000.00   

12=1=7

1 ;fdfGo l;kmfl/;x?
s gfd y/ ;Dzf]wg l;kmfl/; uf]6f 100.00     

v g]kfnL gful/Qmf k|df0fkq -j+zh_ l;kmfl/; " 100.00     

u g]kfnL gful/Qmf k|df0fkq -ljjflxt c+lus[t / 

c+lus[t_ l;kmfl/;

" 500.00    

# j}b]lzs k|of]hgfy{ gftf k|dfl0ft " 500.00    

ª ;+:yf btf{ l;kmfl/; " 1,000.00   

r ;fwf/0f ljljw l;kmfl/; " 100.00     

% tLg k':t] kmf]6f] 6fF; l;kmfl/; " 100.00     

h c;xfo / ckfFu, b}lj k|sf]]k, 5fqj[lQsf] 

l;kmfl/;

uf]6f %'^

2 hUuf gfd;f/L l;kmfl/;
s lj kL  /fhdfu{n] 5f]Psf] b'j} tkm{sf hUuf 

;8sjf6 @)) ;o ld6/;Dd leq

/f]kgL 200.00     

v cGo ;j} hUuf /f]kgL 100.00     

u hf]t gfd;f/L l;kmfl/; 100.00     

# 3/hUuf btf{ 

c lj=kL= /fhdfu{n] 5f]Psf] b'j} tkm{sf hUuf 

;8sjf6 @)) ;o ld6/;Dd leq

/f]kgL 250.00     

cf cGo ;j} hUuf " 150.00     

ª ljtf{ hUuf gfdf;f/L " 250.00     

r hf]t 5f]8kq / gfd s§f " 500.00    

% u'7L hUuf /fhu'7Ldf / /}tfg gDj/Ldf kl/0ft 

btf{ gfd;f/L

" 500.00    

h :jjf;L hUufsf] xs kl/0ft " 150.00     

em :jjf;L hUufsf] xs kl/0ft 3/ eP k|lt 3/ yk " 150.00     

` 5'6 btf{sf] l;kmfl/; " 500.00    

^ rf/ lsNnf k|dfl0ft " 500.00    

hDdf

l;kmfl/; tyf jS;f}gL b:t'/



l; g+ k|lt PsfO{ tf]lsPsf] b/ 

cf=j= )&%÷&^

gdf]a'4 gu/kflnsf

cfly{s P]g @)&% bkmf !@ jdf]lhd

cg';'rL !@

k|:tfljt lqmofsnfkx?

c /fli6«o /fhdfu{ -lj kL  /fhdfu{, l;Gw'nL 

jlb{jf; /fhdfu{_ / kSsL lkr df]6/jf6f];+u 

hf]l8Psf] hUufx?

" 500.00    

cf sRrL df]6/jf6f] ePsf hUufx? " 300.00     

O cGo ;j} hUuf " 200.00     

^ rf/ lsNnf k|dfl0ft pBf]u / xf]6]n h'g;'s} 

j8fsf]

" 2,000.00   

* ck'tln l;kmfl/; " 500.00    

( df]xL nut s§f l;kmfl/; " 300.00     

)f df]xL gfd;f/L l;kmfl/; " 100.00     

t df]xL btf{ l;kmfl/; " 50.00     

3 pBf]u btf{ l;kmfl/;
s ? bznfv ;Dd k"hL nufgL x'g]df k6s 2,000.00   

v To;kl5 k|lt bznfvdf yk " 500.00    

u l8n/l;k l;kmfl/; " 1,000.00   

4 wf/f ljh'nL h8fg l;kmfl/; b:t'/
s wf/f ljh'nL h8fg l;kmfl/; " 200.00     

v wf/f ljh'nL gfd;f/L l;kmfl/; " 200.00     

5 3/ Jns  gDj/  b:t'/
s 3/ Jns g+j/ -gofF_ " 200.00     

v 3/ Jns g+ gfd;f/L " 150.00     

6 jflif{s cfDbfgL k|dfl0ft b:t'/ -s'n d'Nof+sg 
/sdsf] cfwf/df_

s j}b]lzs /f]huf/ jf cWoogdf hfg] gful/s jf 

lghsf] kl/jf/-d'Nof+lst /sdsf]_  k|ltzt

0.05      

v s[lif k|of]hgsf] nflu-d'Nof+lst /sdsf]_  k|ltzt 0.10      

u Jofkfl/s k|of]hgsf] nflu-d'Nof+lst /sdsf]_

 k|ltzt

0.25      

7

7-1_

s bO{ cfgf;Ddsf] nflu k6s 300.00     

v rf/ cfgf;Ddsf] nflu " 600.00     

u cf7 cfgf;Ddsf] nflu " 1,200.00   

3 Ps /f]kgL ;Ddsf] nflu " 2,400.00   

ª Ps /f]kgL b]lv tLg /f]kgL;Ddsf] nflu " 3,000.00   

r tLg /f]kgL b]lv kfFr /f]kgL;Ddsf] nflu " 3,500.00   

5 kfFr /f]kgL b]lv bz /f]kgL;Ddsf] nflu " 4,000.00   

h bz /f]kgL b]lv dfly " 5,000.00   

7-2_ kSsL df6/jf6f];+u hf]l8Psf] hUuf

lj= lk=÷c/lgsf] /fhdfu{n] 5f]Psf] hUuf

3/ jf6f] k|dfl0ft b:t'/ -3/jf6f] l;kmfl/;_ 



l; g+ k|lt PsfO{ tf]lsPsf] b/ 

cf=j= )&%÷&^

gdf]a'4 gu/kflnsf

cfly{s P]g @)&% bkmf !@ jdf]lhd

cg';'rL !@

k|:tfljt lqmofsnfkx?

s bO{ cfgf;Ddsf] nflu " 100.00     

v rf/ cfgf;Ddsf] nflu " 200.00     

u cf7 cfgf;Ddsf] nflu " 800.00    

3 Ps /f]kgL ;Ddsf] nflu " 1,000.00   

ª Ps /f]kgL b]lv tLg /f]kgL;Ddsf] nflu " 1,500.00   

r tLg /f]kgL b]lv kfFr /f]kgL;Ddsf] nflu " 2,000.00   

5 kfFr /f]kgL b]lv bz /f]kgL;Ddsf] nflu " 3,000.00   

h bz /f]kgL b]lv dfly " 3,500.00   

7-3_ sRrL df6/jf6f];+u hf]l8Psf] hUuf
s rf/ cfgf;Ddsf] nflu " 200.00     

v cf7 cfgf;Ddsf] nflu " 400.00    

u Ps /f]kgL ;Ddsf] nflu " 600.00     

3 Ps /f]kgL b]lv tLg /f]kgL;Ddsf] nflu " 800.00    

ª tLg /f]kgL b]lv kfFr /f]kgL;Ddsf] nflu " 1,000.00   

r kfFr /f]kgL b]lv bz /f]kgL;Ddsf] nflu " 1,500.00   

5 bz /f]kgL b]lv dfly " 2,000.00   

7-4_ uf]/]6f] 3f]8]6f] jf6f];+u hf]l8Psf] hUuf
s rf/ cfgf;Ddsf] nflu " 100.00     

v cf7 cfgf;Ddsf] nflu " 200.00     

u Ps /f]kgL ;Ddsf] nflu " 400.00    

3 Ps /f]kgL b]lv tLg /f]kgL;Ddsf] nflu " 600.00     

ª tLg /f]kgL b]lv kfFr /f]kgL;Ddsf] nflu " 800.00    

r kfFr /f]kgL b]lv bz /f]kgL;Ddsf] nflu " 1,000.00   

5 bz /f]kgL b]lv dfly " 1,500.00   

12=1=8

s gftf k|dfl0ft k6s 200.00     

v hGd k|dfl0ft " 100.00     

u s/ r'Qmf k|dfl0ft " 100.00     

3 ljjflxt÷cljjflxt k|dfl0ft " 100.00     

ª b'j} Ps} ePsf] k|dfl0ft " 100.00     

12=1=9

1 lgj]bg kmf/d uf]6f 50.00     

2 gftf k|dfl0ft lgj]bg kmf/d " 100.00     

3 gful/stf kmf/d " 10.00     

4 gS;f btf{ lstfj " 500.00    

5 k|df0fkq " 500.00    

hDdf

gftf hGd tyf cGo k|dfl0ft b:t'/

cGo ljqmL



l; g+ k|lt PsfO{ tf]lsPsf] b/ 

cf=j= )&%÷&^

gdf]a'4 gu/kflnsf

cfly{s P]g @)&% bkmf !@ jdf]lhd

cg';'rL !@

k|:tfljt lqmofsnfkx?

12=1=10 1 ljnDj z'Ns
s Joj;fo s/ k|To]s jif{ gj'emfPjfkt hl/jfgf jflif{s k|ltzt 20       

v 3/hUuf s/ k|To]s jif{ gj'emfPjfkt hl/jfgf jflif{s k|ltzt 15        

u dfnkf]t rfn' cf=j= leq gj'emfPdf jflif{s k|ltzt 25        

2

s b}lgs nfUg] z'Ns lbg 50.00     

v cGoyf ePdf hl/jfgf " 100.00     

3

s klxnf] k6s k6s 500.00    

v bf]>f] k6s " 5,000.00   

u b'O{ eGbf j9L k6ssf] k|lt k6s " 10,000.00  

lgz]lwt :yfgdf ef/L ;jf/L ;fwg k|j]z u/]jfkt 

;fj{hlgs :yfgdf lgdf{0f ;fdfu|L y'kf/]jfkt



l; g+ k|lt PsfO{ tf]lsPsf] b/ 

cf=j= )&%÷&^

14 !$ 

las|L 

14=1

s= 9'Ëf, lu§L, jfn'jf, :n]6,u|fe]n / /f]8f k|lt So" 

lkm6 laqmL d'=c=s/ afx]s 

k|lt So" lkm6 ?= #.)) -tLg 

?k}of+ dfq_

14=2

v= df6f] k|lt So" lkm6 las|L d'=c=s/ afx]s k|lt So" lkm6 ?=!.)) -Ps 

?k}of+ dfq_

15 lgsf;

L 

15=1

s= 9'Ëf, lu§L, jfn'jf, u|fe]n / /f]8f -lghL 

hUufdf pTkflbt;d]t_ k|lt So" lkm6 d'=c=s/ 

afx]s

k|lt So" lkm6 ?= #.)) -tLg 

?k}of+ dfq_

15=2

v= df6f] k|lt So" lkm6 d'=c=s/ afx]s k|lt So" lkm6 ?= @.)) -b'O{ 

?k}of+ dfq_

15=3

u= l;;f}, ;fn -r§f uf]lnof, lr/fg_ k|lt 6«s ?=#)).– -tLg 

;o ?k}of+ dfq_

15=4

3= cGo sf7 -r§f uf]nof, lr/fg_ k|lt 6«s ?=@)).– -b'O{ ;o 

?k}of+ dfq_

15=5

ª= :n]6÷lj5fpg] 9'+uf k|lt ju{ lkm6 ?=@.))– -b'O{ 

?k}of+ dfq_

cg';'rL !#

k|:tfljt lqmofsnfkx?

gdf]a'4 gu/kflnsf

cfly{s P]g @)&% bkmf !# jdf]lhd


